GENERAL NOTES:

1. ROLL-UP SHUTTER SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN
ACCORDANCE WITH THE 2006 EDITIONS OF THE INTERNATIONAL BUILDING CODE, (1.B.C.) AND INTERNATIONAL RESIDENTIAL CODE, (l.R.C.)
WITH THE 2006 TEXAS REVISIONS, EFFECTIVE JANUARY 1, 2008.

ROLL UP SHUTTER SHALL BE INSTALLED AT SEAWARD AND INLAND AREAS, AS DEFINED BY THE TEXAS DEPARTMENT OF INSURANCE.
DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE INTERNATIONAL BUILDING CODE, FOR A BASIC WIND SPEED
AS REQUIRED BY THE JURISDICTION WHERE SHUTTER WILL BE INSTALLED, AND FOR A DIRECTIONALITY FACTOR Kd = 0.85, IN
ACCORDANCE WITH ASCE 7—-05 STANDARD.

ROLL UP SHUTTER ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTIONS 1609.1.2
AND R301.1.3 OF THE ABOVE MENTIONED CODES RESPECTIVELY, PER FENESTRATION TESTING LAB REPORTS # 4195, 4196, 4197,
4198, 4199, 4200, 4202, 4203, 4204, 4205, 4206, 4208, 4211, 4212, 4214, 4215, 4217, 4219, 4221, 4223, 4224, 4226, 4227,
4228, 4229, 4230, 4232, 4233, 4234, 4235, 4236, 4239 & 4258, PER FLORIDA BUILDING CODE PROTOCOLS TAS-201, 202 & 203.

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY & TEMPER (UNLESS OTHERWISE NOTED). THE
THICKNESS OF ALL EXTRUSIONS SHALL BE AS SHOWN ON THIS DRAWING.

3. ALL SCREWS & BOLTS INSTALLED AT SEAWARD AREAS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES AND MEET ASTM A167, OR
HOT DIPPED GALVANIZED(AFTER FABRICATION) CARBON STEEL AS PER ASTM A123 OR ASTM A153, OR HOT DIPPED GALVANIZED OR
GALVANNEALED(PRIOR TO FABRICATION) AND MEET ASTM A653 WITH 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH, PER 2006
TEXAS REVISIONS TO SECTION 1716.1.1 OF THE 2006 |.B.C. AND SECTION R325.1.1 OF THE 2006 I.R.C.

4. ALL SCREWS & BOLTS INSTALLED AT INLAND | AREAS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES AND MEET ASTM A167, OR
HOT DIPPED GALVANIZED(AFTER FABRICATION) CARBON STEEL AS PER ASTM A123 OR ASTM A153, OR HOT DIPPED GALVANIZED OR
GALVANNEALED(PRIOR TO FABRICATION) AND MEET ASTM A653; HOT DIP GALVANIZED OR ELECTRO GALVANIZED PER ASTM A641,
MECHANICALLY DEPOSITED ZINC COATINGS PER ASTM B695 OR ELECTRO DEPOSITED ZINC COATINGS PER ASTM B633, PER THE 2006
TEXAS REVISIONS TO SECTION 1716.1.2 OF THE 2006 |.B.C. AND TO SECTION R325.1.2 OF THE 2006 I.R.C.

5. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE CONDITIONS. HOWEVER,
EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING NOTE INSTRUCTING THE TENANT OR OWNER
THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING HARDWARE DURING PERIODS OF HURRICANE WARNING AND THAT ROLL
UP SHUTTERS WILL NOT OFFER HURRICANE PROTECTION UNLESS ALL STORM BAR ARE INSTALLED AS DIRECTED.

6. REMOVABLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO THAT THEY CAN BE
REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT) SLATS ARE ROLLED DOWN. THE EFFECT OF THE SLATS ROLLED
DOWN WITHOUT STORM BARS IS; THOSE SLATS WILL SLIP OUT OF TRACK DUE TO THE DEFLECTION CAUSED BY WIND FORCES.

WHEN REMOVING STORM BARS, ONE STORM BAR SHALL ALWAYS BE LEFT INSTALLED (SHALL NOT BE REMOVED). THIS CONDITION IS
ONLY REQUIRED FOR HEADER SPANS EQUAL OR GREATER THAN 12'-0".

7. ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
(A) TO EXISTING POURED CONCRETE: (Min. f'c=3192 psi).
— 1/4"¢ TAPCON ANCHORS MANUFACTURED BY ITW BUILDEX INC.

NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 3/4". NO EMBEDMENT INTO STUCCO SHALL BE
CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON
NOTES A.1 ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL: ASTM C—-90
— 1/4” @ TAPCON ANCHORS MANUFACTURED BY ITW BUILDEX INC.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4"

B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG
ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. MINIMUM EMBEDMENT SHALL BE AS INDICATED ON NOTE B.1 ABOVE.

(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G = 0.55 MIN.

NOTES:
—1/4"8 LAG SCREWS PER N.D.S. 2005
—1/4"8 TAPCON ANCHORS PER N.D.S. 2005

C.1) MINIMUM THREADED PENETRATION OF LAG SCREWS AND TAPCON ANCHORS, INTO THE WOOD FRAME UNIT SHALL BE 1 1/2".
NO THREADED PENETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED PENETRATION.

C.2) MINIMUM EDGE DISTANCE OF LAG SCREWS AND TAPCON ANCHORS INTO WOOD SHALL BE 2"
C.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON THE EXISTING WALL,

ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE BEHIND SUCH PANELS.
MINIMUM THREADED PENETRATION SHALL BE AS INDICATED ON NOTE C.1 ABOVE.

10. PROTEUS® FLAME RETARDANT 18G, IS A POLYPROPYLENE MANUFACTURED BY POLY HI SOLIDUR, INC.,
SPRING LOADED SYSTEM FOR REMOVABLE STORM BARS & COMPLIES W/ THE FOLLOWING SPECIFICATIONS:

. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.
. ANCHORS REQUIRED FOR STORM BAR, HEADER & MULLION CONNECTIONS SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS SHOWN

ON SHEETS 6, 7, 8, 9, 10, 11, 12, 13 & 14 OF 19 RESPECTIVELY. POWER BOLT & CALK—IN ANCHORS TO BE MANUFACTURED BY
POWERS FASTENERS, INC., KWIK BOLT TZ MANUFACTURERD BY HILT! INC., & TAPCON ANCHORS MANUFACTURED BY [.T.W. BUILDEX INC.

MINIMUM EMBEDMENT

ANCHOR SPACING EDGE DISTANCE POURED CONCRETE CONCRETE BLOCK
—1/4"8 TAPCON 37 3" 1 3/4” (Min. fc=3192 psi) 1 1/4" (ASTM C-90)
—1/4"8 CALK—IN 2 1/2” 3” 7/8" (Min. f'c=3000 psi) -

-3/8"6 CALK—IN 3 3/4” 4 1/2” 1. 1/4” (Min. f'c=3000 psi) -
-3/8"0 POWER BOLT 3 3/4” 4 1/2” 1 3/4” (Min. fc=3000 psi) 1 1/4” (ASTM C—90)
-3/8"0 KWIK BOLT TZ 6” 4 3/8" 2” (Min. f'¢=3000 psi) -
—1/2"8 KWIK BOLT TZ 9 3/4” 6" 3 1/4” (Min. fc=3000 psi) -

DESIGNATION PROPERTIES VALUE

ASTM D—-792 DENSITY 59.51 Ibs/ft> (AVERAGE)

ASTM D-638 YIELD POINT 3200 psi (AVERAGE)

ASTM D-638 TENSILE BREAK 3250 psi (AVERAGE)

ASTM D-638 ELONGATION AT BREAK 600 % (AVERAGE)

ASTM D-790 FLEXURAL MODULUS 145000 psi (AVERAGE)

ASTM D—-4020 1ZOD IMPACT 0.15 ft—Ibs/inch (AVERAGE)
uL 94 BURN RATING. V—-0/5-VA (AVERAGE)

ASTM E—84 FLAME SPREAD INDEX 15 °F (AVERAGE)

ASTM E-84 SMOKE DEVELOPMENT INDEX 375 °F (AVERAGE)

USED AT

11. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO
CONCRETE, BLOCK OR WOOD FRAME BUILDINGS STRICTLY FOLLOWING DETAILS INDICATED ON THIS DRAWING.

12. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN
CONTINUOUS CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS

ALL AROUND FULL LENGTH.

13. ROLL—UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING

AGENCY.

14. ROLL—UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING
AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

15. (a) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE
SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY
OF THIS PRODUCT, BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS P.E.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A PROFESSIONAL ENGINEER OR REGISTERED ARCHITECT

WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR
THE PROPER USE OF THE P.E.D.
ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS
LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF

RECORD THAT PREPARED IT.

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871—1530 FAX (305) 871—1531

TEXAS LIC. # 90691

1.0.I. — 2006

60mm & 40mm ROLL—UP SHUTTER pRam oY

ATLANTIC METAL EXTRUSIONS, LLC. 1271105

1243 ETRUSCAN WAY
INDIAN HARBOUR BEACH, FLORIDA 32937
PH: (859) 227-1320 FAX: (321) 777-6072 08-265
REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
; ‘: SHEET 1 OF 19




MAXIMUM HEADER SPAN (SEE SCHEDULE)

OEY

\

1

e

pv OR (A2

Max. SLAT SPAN (SEE SCHEDULE)

1
|
1
N
/‘OR S——s s—p—s
(Typ-) H—
=
T
= = —— s g = S § = N — — = O
-
P P ————s—F—s s— F—s P— P %Y
QD
: : OR H §§'
I Ve
(Typ.) Z SR
[}
®© =
)
/. @<§ 3¢
LG |
(Typ. Ea. END) —
/
OR (a2b
Max. SLAT SPAN (SEE SCHEDULE)

Max. STORM BAR SPACING (SEE SCHEDULE)

NOTE: SEE SHEET 3 & 5 FOR COMPONENTS NOMENCLATURE.

Max. MULLION SPACING |=—

MAXIMUM MULLION SPAN

NOTE: SEE SHEET 3 & 5 FOR COMPONENTS NOMENCLATURE.

DIGI®

Max. HEADER SPAN
& Max. MULLION SPACING
(SEE SCHEDULE)

[‘» w=1 w-2 Cont.
&g g
: b fr “ HE o
\ | I / I | I / I
| f f ) W) or (0) | f I S@@or(o
% J\ I I | I I
i MK i T T < T 'r
| I I
@ | 1|1 1|1 @ @ OR %+ H : : : |
| I I | il I
OR @ | I I | I I
| ifi ifi Al OR@\ | ifi ifi =
g | I Hi — | — =l —— =l s bg
! | it — it ——— (Typ.) : \*—é—+:: —é——é—:: & 23
R = il il | il il W 38
5 o |IEQ I I | — = —==| 33 3§
. | f At | f f ¥ Lo
] H J I — — ¢ — I — — @ Sw
oy | 1|1 ~ 1|1 | S S 1|1 S S 1|1 S ]
g | f = B (©H)or(1H—H ! | f 25 3d
| 11 11 (Typ.) | W ————— — I W X
| I I rll=s e | [ I 5§ 3
| || FP/— L1 | Q —o - W —r—] — ] [ — =
=i TE——--(5)0)0)———| I === 3
) — — —— S
| == = i it ===
| 1|1 1|1 @ OR@ | 1|1 H 1|1
| r — i R |1 | — ] ] |1
| il il (Typ. Ea. END) | il il
! Ll 1! ! 1! 1! .
\ r
@ OR | w1 Max. SLAT SPAN (SEE SCHEDULE) vz @ OR
Max. SLAT SPAN Max. STORM BAR SPACING (SEE SCHEDULE)
(SEE SCHEDULE) H H
NOTE: SEE SHEET 3 & 5 FOR COMPONENTS NOMENCLATURE. NOTE: SEE SHEET 3 & 5 FOR COMPONENTS NOMENCLATURE. 1.0.I. — 2006
DRAWN BY:
NOTE: 60mm & 40mm ROLL—UP SHUTTER
SEE SECTIONS ON WALTER A. TILLIT Jr. P.E. F.P.
SHEETS 6 THRU 14. PROFESSIONAL ENGINEER
ATLANTIC METAL EXTRUSIONS, LLC 12/11/08
'y . DATE
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08—-265
DRAWING No

TEXAS LIC. # 90691

REV. NO DESCRIPTION DATE REV. No DESCRIPTION

DATE

1 3

2 4

SHEET 2 OF 19




|—J

2.847"

2.371"

039"

TYPE 1 SLAT

60 mm EXTRUDED ALUMINUM SLAT
SCALE: 1/2” = 1"

) 2.693"
L1077 - 424
. 979"~ |~078" |1 si0m |
b@ 45 13276 % N
- © © N
TT g8 7
T (224 s
2 —~| |—115" %, 3 Q
% ha P19
| e SN —
] | T
3% —lsoo"— 888 S
8= 295" e N9%§
(5).057"/&1. 172" —==——1.521"—

(E)TYPE 4 SIDE RAIL:

FOR A2

EXTRUDED ALUMINUM SIDE RAIL
SCALE: 1/2” = 1”

4.000"

.220"

277"

.050"~

420"

BOTTOM SLAT

EXTRUDED ALUMINUM SLAT
SCALE: 1/2” = 1"

3.124"
i 3.920 1422+ |+—1.345"——| 078"~ [~:726"~| |~.078"
284 % % 140" 142" |=——1.345" ~=102" .078"~ =726~ |--078", ~102”
N ” L™ N [— 2 N !
N~ -185 < N - 7o, - N
| R S WAt : = A -
R ) & N N T T by 1
| 077" ] ST S ‘ 5 an 71/ 3 N
T ! ), ~ I, R %S 45° ]
2594 8% =/ 8l s n& N
5 S . nw =-— 730" N~ N t #
N 3 . Y R ” N T ro 4_[ ‘ — SN2 5 f
8 & TR 050" N VN A A SNBSS ; T
S * g} - ~ | | | J 3 2 " 0 N
. , T (o127 N Q 882" R
o A N ».512"%(882"» 38 Ai 4707 S s2s® Q-
3 ! S kot 470 S=3157 | 9% : [ 1.535
" N \ 2.331 410 392"
| 165 5 ’ -392” 1.589"
‘-« 313" |~ 1707 1.589 "

SCALE: 1/2”

2.593" RN
—1.050" 1,143 —290 §
L T
1 — - Bt
o 1o _Jl-os0" 1257 |- Ty
QN Typ- Q |
{ N B Sy
f . S
1.543 ‘ g

(A2) IYPE 2 SLAT (@42b BOTTOM SLAT

40 mm EXTRUDED ALUMINUM SLAT

- 1

@ TYPE 5 SIDE RAIL:

FOR @2

EXTRUDED ALUMINUM SIDE RAIL
SCALE: 1/2” = 1"

4.000"

.125”7

2.000"

2.000"

.250”

TYP.

(J)HEADER TYPE 1

EXTRUDED HEADER
SCALE: 1/2" = 1"

2.000"

250"
| (7P)

3.000™

(M) IYPE 1 MULLION

4” EXTRUDED MULLION
SCALE: 1/2” = 1”

(K) HEADER TYPE 2

4.000™

EXTRUDED HEADER

SCALE: 1/2” = 1”
4.000" |
|| 250"
TYP.

(N)IYPE 2 MULLION

4” EXTRUDED MULLION
SCALE: 1/2” = 1”

310"

TYPE 1 SIDE RAIL:
FOR A1

EXTRUDED ALUMINUM SIDE RAIL
SCALE: 1/2" = 1”

EXTRUDED ALUMINUM SLAT
SCALE: 1/2" = 1”

(C) IYPE 2 SIDE RAIL:

FOR A1

EXTRUDED ALUMINUM SIDE RAIL
SCALE: 1/2" = 1"

312”7

:_4

3 250" 8 gg)
3 (e 5 :
i (gﬁ)
(F)IYPE 1 STORM BAR (G)IYPE 2 STORM BAR
2"x2" HEAVY EXTRUDED STORM BAR 3"x2” EXTRUDED STORM BAR
SCALE: 1/2" = 1” SCALE: 1/2” = 1”
| . | (H)IYPE 3 STORM BAR

2.000"

|_.250"
e,

(L)HEADER TYPE 3:

EXTRUDED HEADER
SCALE: 1/2” = 1”

‘ 4.000" ‘

.250"
TYP.

6.000"

4"x2” EXTRUDED STORM BAR
SCALE: 1/2” = 17

~
(S
< 200" .5107, ‘%AN S
LR S
C I
B 7 5 i
J Q /+ T ? J
N9 ) Q
hy ~N <
? f 0757|175 ‘*'*\ | ?
=<O o ‘;055" ..370";1"‘-’ N ?
] -~ 7.460"—— 400" %
——1.490"—— =
2.950"

(D) TYPE 3 SIDE RAIL:

FOR A1)

EXTRUDED ALUMINUM SIDE RAIL

SCALE: 1/2" = 1"

2.000"

4.000™

.250”

(TP)

@TYPE 4 STORM BAR

4"%2” HEAVY EXTRUDED STORM BAR
SCALE: 1/2" = 1”

(0)IYPE 3 MULLION

6" EXTRUDED MULLION TEXAS LIC. # 90691

REV.

NO DESCRIPTION

DATE

REV. No

DESCRIPTION

DATE

T.D.I. — 2006
DRAWN BY:
WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL—-UP SHUTIER F.P.
PROFESSIONAL ENGINEER 1211/08
ATLANTIC METAL EXTRUSIONS, LLC. A
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08-265
DRAWING No

SCALE: 3/8" = 1"

3

4

SHEET 3 OF 19




L 3/8" (2)3/8"#x4” ALUM. BAR

T 1vp . oMox (6061—T6) ALLOY. I /) A —
soTrOu OF HEADER ’7—‘ ’7—‘ ﬂL SEE SCHEDULE SEE SCHEDULE :
OR CONCRETE SLAB R f ., g0\ 38" 3E e |
. m m T m ’7—‘ ’7—‘ e [ (2f6x1/27 SD.S. TN SR X, Y DIMENSIONS FOR A
or oF storu ear— | | | | ERRERNE | T 1] T 1 GIVEN TYPE OF STORM BAR
T\\ \\ls ;; ;\; ;‘; ‘ ‘\‘ A SToRM _ _
N N ‘ | | ‘ L) & ‘ | P BAR TYPE X(in) Y(in)
H | ] | 1] “ | ‘ | | 1] | 1] | s G 119/32" 1.19/32”
I BRI n 1] 1] R Tl Tl CEEZREZ
H é é “ || | ! BRI |1 Jon 1] | (H) 1 23/32" 3 23/32"
= e é @ N R I O [rmmr | e
/ | W\ T ] ]
I S A = N o ||| ! |1 |, P /ﬂm
SPRING-L0aDED — I T2 | = | Tl . L - P LI |
= = © T i L i L
N ... . B I Simal
pE i L i‘ 5 iRE g{@”ﬂ S iﬂ/:i igi . 7 ‘ (4)3/16"8 POP
| £+ TiF Tt N T= = 9 /8" RIVETS AT EACH SIDE
BeEy T T sy = 3 e OF STORM BAR
e £ - — e = FRONT SIDE_VIEW
i I 1 .D.x3/1 I 1 —F
e E = e e a=s == BOTTOM SPRING—LOADED SYSTEM =
| | = STEEL SPRING. T T » » SN
| | < i i o SCALE: 1/2” = 1 N
o djll ‘ ‘ PLASTIC 21/2
}H | 1] ] b gl / :
N BN |1 | | N ©
| | N 1 <
}‘ | | H ] LF’OLYETHYLENE | | | | | | T
,(\“ I — = | BLocK P 9l )
? . \\ 2@?’@%@’” || ||| ﬁ‘“ )
Hi 7. AT EA ” »
| } SPE oF STomt ak. m @ ¢§fﬁ//|;J# - ? )
(6061-T6 ALLOY). Ll s sl #8x1,/2" S.D.S.
EZE —3/4" ] - seE SeHEDULE 3/8" WPLLPS :
TYP. /PHILLIPS J 2 EXISTING
| | . Sex SOHEDULE - SLOTTED HEAD © CONCRETE
| | FRONT SIDE_VIEW :
STORM BARS LSRYIVI DIe VIEVY - st1/16" - vs5"
| | TOP SPRING—LOADED SYSTEM ENGAGEMENT HOLE DETAIL
SCALE: 1/2” = 17 PLASTIC BUSHING:
(IN_ CONCRETE) FOR REMOVABLE / )
| | SPRING—LOADED STORM BARS ~ LDETAIL T (ISOMETRIC.
=1 ALE: 17 = 17
| ‘ STORM BARS SCALE: 1~ = 1 SCALE 7
| GIEICIO NOTES:
| (1) ENGAGEMENT HOLE DRILLED IN CONCRETE SHALL BE 5/87x1”
e 7L e (a)3710"x1,/2" ALUMINUM DEEP, W/1/16” Max. TOLERANCE IN BOTH DIAMETER & DEPTH.
| ‘ EACH SIDE OF STORM BAR
(2) ENGAGEMENT HOLE DRILLED IN CONCRETE SHALL BE
‘ ‘ PERMANENTLY PROTECTED BY FITTING PLASTIC BUSHING
IR [1] | (SEE DETAIL 1) INTO HOLE. IT SHALL BE THE RESPONSIBILITY
D ‘ ‘ ‘ N OF SHUTTER’S OWNER TO PERMANENTLY KEEP BUSHING
sorrow |11 | ]S FREE OF DUST & MOLD BY REMOVING IT FROM ENGAGEMENT
sormoorod 1] t HOLE, CLEANING IT AND REPOSITIONING IT INTO HOLE AS
— ! N |
SYSTEM @i‘ % | INDICATED ON ABOVE DETAIL.
N a o
|
}\ } | } } \} TYPICAL SPRING—LOADED SYSTEM FOR REMOVABLE STORM
g%r;%ggx ‘}‘ o q l}i | BOTTON OF BARS AS ALTERNATE TO THE USE OF CALK—IN ANCHORS TDl — 2006
N SLAB .D.1.
L ‘ | | N r
f _ DRAWN BY:
JT/Yg,,! J LJ o WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL—UP SHUTTER FP.
’ L t PROFESSIONAL ENGINEER 12/11/08
ATLANTIC METAL EXTRUSIONS, LLC.| "
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
TYPICAL CONNECTION TO PHONE (3\/(/)5;//\‘/;/17 IGAZ%%NSI_;A; L(jgf”)‘;‘; 1137 INDIAN HARBOUR BEACH, FLORIDA 32937 08—265
- - PH: (859) 227-1320 FAX: (321) 777-6072 —
STORM BA RS (SIDE VIEW) TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIFTION DATE DRAWING No
SCALE: 1/2” = 17 ; f SHEET 4 OF 19




RV 45& RV 45/S
HOUSINGS

(P) BOX COMPONENTS AND ASSEMBLY DETAIL

(SEE NOTE 13 ON SHEET 1)

45° CHAMFER
AS APPLICABLE

s
"STUB DETAIL

(N. T. S.)

SIDE CAP HEIGHT
(SEE SCHEDULE)

2 12"

45° CHAMFER
AS APPLICABLE

SIDE CAPS:

(SEE NOTE 11 ON SHEET 1 )

COMPONENTS FOR GEAR OPERATED SYSTEM

— GEAR
UNIVERSAL & CRANK
CRANK HOLDER(OPTIONAL)
GEAR INSERT(GEAR TO AXLE CONNECTOR)
IDLER INSERT
BALL BEARING
OCTAGONAL AXLE *
ENTRY GUIDES
— SIDE/END CAP *
— HOUSING(FRONT & BOTTOM), 0.040” THICK
— SIDE RAIL
— PLUG—BUTTONS
— ALUMINUM SLATS
— BOTTOM SLAT
— PLASTIC STOPS(OPTIONAL)
— SIDE LOCKS(OPTIONAL)
— STAPLES(OPTIONAL)
— SPRINGLOCK HANGER
— SAFETY PLATES
ADDITIONAL _COMPONENTS FOR
MOTORIZED OPERATED SYSTEM
— TUBULAR MOTOR
— MOTOR BRACKET
€y — swiTcH

©
(2
©
©
(9
©
(7
(8)
© (SEE NOTE 13/1)
19

@,
&
&
@
&

&
&

FASTENERS

@ — #8 STAINLESS STEEL SCREWS (6 REQ'D EA.
SIDE CAP) : 2 @ TOP, 2 @ REAR, 1@ BOTTOM & 1@ FRONT

* SHALL BE COPABLE TO SUSTAIN SLAT'S
WEIGHT AND ASSURE LIFTING MECHANISM

1.D.I. — 2006
DRAWN BY:
WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL=UP SHUTTER F.P.
PROFESSIONAL ENGINEER 12/11,/08
ATLANTIC METAL EXTRUSIONS, LLC. A
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871—1530 FAX (305) 871—1531 PH: (859) 227-1320 FAX: (321) 777-6072 08—-265

TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE

DRAWING No

1 3
2 4

SHEET 5 OF 19




POURED TAPCON | -
CONRTE Go I —
/ 2"%2"x1/8" Cont. Alum. SCHEDULE ON
POURED CONCRETE OR REQUIRED 7 252 6/ Comt A e o SHEED Zg%g% EcoBAz%@iTE OR /@ @
CONCRETE BLOCK SCREWS @ 6" 0.C. TO SIDE REQUIRED /@ @
TAPCON REQUIRED —~__ TAPCON ANCHORS RAIL o~ OR
ANCHORS (SEE (SEE SCHEDULE ON /
SCHEDULE ON | £ b THIS SHEET) b OR ) ]
THIS SHEET) \ T 1°%3"%1/8" 2"x3"1/8", ;2) 7/7? ox3/4
[ 3'%3"%1/8” OR 3’%4’x1/8" 1/8%0x3/4" TEK EK SCREWSS.D.S.
[ 1/4” 47 1/2" -1 1/2" CONT. BUILD-OUT TUBE.
.
7

e |- Mox.
EQ ” ”
1/4"0x3/4” TEK
OR l é @ OR % SCREWS @ 6" 0.C.

SCREWS © 6 HOLE & COVER eeoc
N o W/ NYLON CAP
— 1
- i 4@ ” ()or @)
u > = .—L?—_,—,- = =9 =3
(- co--eo| ! ‘ ‘
- Sianis = oo =

g HOLE & COVER

e_9)
[
%fg ZILgSVERJ »‘ 7,‘,,/:)( @@ %ﬁig ;Ingvt'R 1‘@@ NN | N ZjE::/OL,: T; N | "
W/ NYLON CAP @OR@ W) NYLON CAP l EE‘ 1/4" 1/4 ﬁi’
@ OR OPEN PILOT T @ @@ Hox. @ o . @ @@
SECTION P = P (1) : SECTION P — P (2) : W riow cap ©or€)  w-1 or w-2 > @OR w-1 or w-z ||} GLIS)

WALL MOUNT INSIDE_MOUNT _ SECTION P = P_(3) :
SCALE: 1/2” = 1 BUILD-OUT MOUNT SECTION Q - Q : SECTION R — R :
SCALE: 1/2” = 1”7 MULLION MOUNT MULLION MOUNT
SIDE_RAIL_ANCHOR SCHEDULE (FACE MOUNT) (FACE MOUNT)

SCALE: 1/2” = 1”

MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND CORRESPONDING CONCRETE BLOCK

MAXIMUM ANCHOR SPACING(in) * FOR SIDE RAILS B). €©). D). E)& J2en 5 comt, 255 cont
E]) CONNECTION TO POURED CONCRETE OR MASONRY WALL POURED CONCRETE ALUM. ANGLE = ALOM. INGLE

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS) SUBSTRATE LEGEND o J J P
SCREWS @ 6~ Q Q SCREWS @ 6"
o.C. l l o.C.
MAXIMUM SIDE RAIL SIDE RAIL (C) SIDE RAIL (D) SIDE RAIL (E) SIDE RAIL (E1) @)or @) SR
LOAD L/; -— EQ Q IR V4 ‘
9 — — — — — X. Max. OR
W (pst) |waw wount | WSOE | BYUELOUT | waw mount | WEDE | BURERGT | wat mount | WEEG | BT | wa mount | NS | BUISRGT | wa wount | WIS | BT . — P = - A)or (42
9” 4" 8 1/2” 9" 5" 9” 9” 6” 9” 9” 6” 6” 9” 6” 6" : Eens\s e oz s
45 OR LESS = | EQ | EQ EQ_|_EQ | $
9” 6” 9” 9" 6” 9” 9” 6" 9” 9” 6" 6" 9” 6" 6" NS\ )

9” 3 127 6 1,27 9" 4 1/2" 9” 7" 4 1/2" 9” 9” 6" 6" 9” 6" 6”
>45 TO 60 OPEN PILOT @ OPEN PILOT

” ” ” ” ” ” ” ” ” ” »” ”» ” »” ” HOLE & COVER HOLE & COVER
9 6 9 9 6 9 9 6 9 9 6 6 9 6 6 @OR @ W/ NYLON CAP pp @ W/ NYLON CAP @ OR @

8 1,/2” N/A 5” 9" 3”7 6 1/2” 4 1/2” 3 1/2” 7" 9” 4 1/2" 6” 6 1/2” 5 1/2 6"
>60 10 100 |—— ; : : : : ,, : : : : : : : ; SECTION R = R :
9 6 9 9 6 9 9 6 9 9 6 6 9 6 6 MULLION MOUNT
6 1/2” N/A 4" 7" N/A 4 1/2" N/A” N/A” 5" 9" 3 1/2" 6” 4" 4" 6” (INSIDE MOUNT)
>100 TO 160 SCALE: 1/2” = 1"
9” 14 1/2” 9” 9” 5 1/2" 9” 5 1/2” 4" 9” 9” 6” 6” 9” 6” 6"

* MAXIMUM ANCHOR SPACING (in.) AT SIDE
RAILS VERSUS EDGE DISTANCE = E.D.

MAXIMUM ANCHOR SPACINGS ARE VALID FOR

3" EDGE DISTANCE. FOR E. D. LESS THAN 37,
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING
SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS

(IN ORDER FOR THIS OPERATION TO BE MADE 1.D.l. — 2006
REDUCED SPACING OBTAINED USING FACTORS SHALL
NOT BE LESS THAN 37): 60mm & 40mm ROLL—UP SHUTTER pramn oY

WALTER A. TILLIT Jr. P.E.

PROFESSIONAL ENGINEER
ACTUAL E. D. FACTOR 12/11,/08
CToAL & D cro ATLANTIC METAL EXTRUSIONS, LLC. A
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
1 1/2” 0.35 VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 8711530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08—-265
TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No

1 3
2 4

SHEET 6 OF 19




MAXIMUM STORM BAR HEIGHT FOR THIS INSTALLATION TYPE

ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

TEXAS LIC. # 90691

REV. NO DESCRIPTION

DATE REV. No DESCRIPTION DATE

1/8"%x2"x2” ALUM. PLATE 1 1/2%1 1/2%1/8" -~ 1/2" = 1 1/2%1 1/2°x1/8"x 0'-3 1/2"
POURED W/ 1/4%8x1 3/4” TAPCON ’ S/TORXM 54? BEQH FOR INSTALLATION INTO CONCRETE, ALUM. ANGLE W/ (1) 3/86 KWIK
CONCRETE 1/8"%2"%2" ALUM. PLATE W/ 1/4"0x1 3/4" ANCHOR @ 12” O.C. ~3/4"—=3/4"— Alurm. ANGLE EA. SIDE USE (1)1/4"@ TAPCON ANCHOR AT 347 |34 BOLT TZ W/ 2" Min. EMBEDMENT
W/ 5" MIN. TAPCON ANCHOR @ 12" 0.C. e =45 — CENTER OF ANGLE EACH SIDE FOR AT EACH SIDE.
THICKNESS ]_ N | / ANY CONDITION BETWEEN 45 psf TO
REQUIRED 1 . = S| . 90 psf SEE TABLE 1 & USE (1)
(£e=3900 psi) o b o N N M 3/8" KWIK BOLT TZ W/ 2” MIN.
AT T e ~~ N = Ml copzlel EMBEDMENT AT CENTER OF ANGLE sl
| T e e < oSS 7 N | ] ] N EACH SIDE FOR GREATER LOADS AND NE
|_"_| S .. ‘ I REQUIRED / \ | SPAN CONDITIONS. =
I ! o0—o == I ~~ \ | FOR INSTALLATION INTO HEADERS
i o STl : ) | | | = USE (2) 1/4"2x3/4" (ITW BUILDEX) Bk
! gL - N | - ) [ . [t TEK SCREWS EACH SIDE. . /—®OR @
| = — / I =
I s, : s \ | Min. E.D. - ) ¢ - (2) 1/4"Px3/4" TEK SCREWSAT e sk
I b | ) ! | - 7 EACH' SIDE. / /
I | [ -/ / | g OR
/ 7
I | i , | s \J ; .
I I [ Y | A A AT AV AVAVEAVA' VAV SV AV Y 1) EE T F T =L o SECTION S — S (FOR FIXED STORM BAR (2) 174°0x3/4" (ITW BUILDEX)
Il | | s y o =t OPTIONAL EDGE OF TEK SCREWS AT EACH SIDE.
I | | - A I—n—I NS : & SCALE : 1/2”" = 1" WALL
” | [ A I i | \ FOR CASES SECTION S2 — S2
P Wl ___— A IS ! — WOUT HEADER o far e apany |, 12D 1721/ FOR INSTALLATION INTO CONCRETE, USE SCALE : 1,4” = 17
|'—1 (Min.)—| | OPTIONAL I , . T ASTENERS x STORM BAR DEPTH (1)1/4"8x7/8" CALK—IN * ANCHOR AT
:I I | « FOR CASES ” | : | Alum. ANGLE EA. SIDE CENTER OF ANGLE EACH SIDE FOR ANY @ .
| | W,/OUT HEADER | , CONDITION UNDER 40psf, FOR
I I I / Il I ! : CONDITIONS BETWEEN 40psf TO 80psf A ) MACHINE SCREW
I ' ' FASTENERS ':——7" (Min.) ' ' N SEE TABLE 1, & (1)3/8°0x1 1/4" NFULLY EMBEDDED
! : ! t ' ! T CALK—IN * ANCHOR AT CENTER OF = “FINTO ANCHOR
I | | @ I : | OR ANGLE EACH SIDE FOR GREATER DESIGN < ANCHOR
I | | I | I () LOADS AND SPAN CONDITIONS. a B N~
|: | | @ ” S2 | 52: | FOR INSTALLATIONS INTO HEADERS USE w 4
| I OR | (2) 1/4"0x3/4" TEK SCREW EACH SIDE.
e = osme /1! — (© DETAIL A
i ! et : oass— ) ! , s N MTIK SCALE : 1/2" = 1"
© I [T | | Il | | f i " ”
I | | — | I | | I (2)1/4°6-20 S.S. M.S. X 1/4'6-20 OR 3/8"0—16 MACHINE SCREWS USED JOINTLY W/
& I | | , i or Il | I OR W)7/8°0x3/32" WING NUT 1/4°0x7/8" OR 3/8"x1 1/4" CALK—IN ANCHORS
By I I | | | Il | I OR RESPECTIVELY SHALL BE LEFT TOGETHER W/ ANCHORS AT THE
2 ! ! Nall | it | | SECTION S — S (FOR REMOVABLE STORM BAR) TIME STORM BARS ARE REMOVED. (SEE DET. A).
S i [ : : : I o i | SCALE : 1/2" = 1"
= ” ! I I I : SEPARAT/ON4LI o D TABLE1 1 7 1 1”
8 Il 1" Min : :\]L OR I 70 GLASY I I I @ @@ DESIGN Y "L” Max. POURED CONCRETE ue
I - 0AD ax. SLAT »
IS Il SEPARATION | | | I I I I I L SPAN STORM BAR W/ 47 MIN.
9 Il | u 1 1 1 L W (p.s.f.) HEIGHT THICKNESS REQUIRED
o I 10 GLASS oh ! OR P OR CONCRETE
Ly 3'-0" 8'-0"
I BLOCK
“ I : : :T\f m I | | (BEYOND) 45.0 40" 74" L
1l | | 1 L Il | | 5'-0" 6'-7"  ——  ——
e Min)—|i | >@ oR @ =0 e EDGE OF—/
@OR @ :I ! ///I . 50.0 4’-0" 6'—11" ALL
I T T LS T T (BEYOND) Il : : ‘ 5-0 63" 2"%x4"(Max.)x1/4"x0'—4 1,/2" . ?Q. (2) 1/4"8x3/4"
” : : : : “ * | | OR 3'-0 7'—4 ALUM. ANGLE W/ (2) 3/878 R (ITW BUILDEX) TEK
| il 60.0 70" 6'—4" POWER BOLT ANCHORS W/ | i SCREWS EACH
” : : H I : OR ” 52 ' 52 5'-0” 58" 1 1/2” Min. EMBEDMENT TO W< Soe (1p.).
I | | n— I : : 3-0" 6'=9" CONCRETE BLOCK & (2) —
i | | [ | I | i 70.0 70" 511" 3/8"0 KWIK BOLT TZ @0/? @_/
I : : : : “ | 50" 5-3" W/ 2" Min. EMBEDMENT TO
i 0" v POURED CONCRETE AT EACH
o— Al Il =9 =4
1 | NI |l®0’?@ I jo o 80.0 4-0 56 SIDE SECTION S1 - S1
I I I I I I 50" 411" SCALE : N. T. S.
1l : : : : b 3-0” 50"
b | | | | ! 3 90.0 40" 52" 27x4"(Max.)x1/4” CONT. ALUM. ANGLE,
~—1" (Min)—, [ [ [ 2 Q Min, E.DZ] 5'-0" 44" ” "o g W,/ CONCENTRATION OF (3) 3/8%%
| NG Z S 1.1/2°1 1/2"%x1/8 \ .
l ' ' ' ' s 7 S~ ALUM. ANGLE EACH SIDE AS POWER BOLTS @ 4” 0.C. & (3) 3/8%
' : : | : POURED +$ / i~ SHOWN ON SECTION S-S KWIK BOLT TZ ® 4" O.C. AT STORM BAR
” l | s*' I | i CONCRETE F { ; [1ERN LOCATION AND REST 1/4’8 TAPCON @
? I 12” 0.C.
| 1 | | W/ 4" MIN. L) ! m OR
” o D OR TI-ﬂCKNESS | J’//‘\'L AN
I luvr: REQUIRED : ) \ . A
Lo—o o 0 X L F ] ¥ 7 — | ‘
- . (D@ . .~
| 1 e o 2%4"(Max.)x1,/4x0'=5 1,/2" Alun. | . } TT \ TT
ANGLE W/ (2) 3/8"8 POWER I \ polrey” ' OR |
BOLT ANCHORS W/ 1 1/2" Min. | =——— Iy ONCRETE I Wi L—5 1 ] R . ) . . y
EMBEDMENT TO CONCRTE BLOCK | Iy W/ 4" MIN. =% O / 12 12 4 4 12 12
AND (2) KWIK BOLT 7Z W/ 2" |l ] \ THICKNESS ~+ S /
POURED . . MIN. EMBEDMENT TO POURED NG ;0\ REQUIRED T / OR @
CONCRETE, FOR 1/4°¢ TAPCON ANCHORS 3" Min. CONCRETE (2) 1/4"8x3/4" (ITW N ; \ A Z Z / ELEVATION
%ci/vfl‘g@v OR 1/4'8 CALK—IN ANCHORS ) BUILDEX) TEK SCREWS TO STORM / AN Y . Y 24" (Max)x1 /4"
REQUIRED ggRJ%qa%K%‘;ﬁK;gZrAgﬂ?v?HORs # e PARS AT EACH SIE A _-7 POURED CONCRETE = i 7 CONT. ALUM. 'ANGLE SCALE = N TS T.D.I. — 2006
(Fe=3000 psi) POURED CONCRETE F———— W/ 4" MIN. e
W/ 4" MN. THICKNESS REQUIRED. ___ _~ T T _ - 50 o 40 POLL_UP SHUTTER DRAWN BY:
THICKNESS REQUIRED OR CONCRETE mm mm —
_ OR CONCRETE BLOCK WALTER A. TILLIT Jr. P.E. F.P.
BLOCK
WALL_MOUNTING SECTION V=V(1 O Ao PROPESSIONAL ENGTEER 1 ATLANTIC METAL EXTRUSIONS, LLC.| %1/
™ BAR CONNECTION 'y . DATE
(SEE SECTION "S” FOR ANCHOR TYPE REQUIREMENT) INSTALLATION W/ FIXED STORM 6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
SCALE : 1/4” = 1 W VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
SCALE : 1/4” = 1” PHONE (305) 871-1530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08-265
SINGLE SPAN SECTIONS AND DETAILS SECTION V - V DRAWING No

3

4

SHEET 7 OF 19




PLASTIC

1/8%2"x2” ALUM. PLATE W/ 1/4°8x1 3/4”

: /
BUSHING * TAPCON ANCHOR @ 12" 0.C. / 1/8"x2"x2" ALUM. PLATE W/ 1/4"#x1 3/4"
POURED CONCRETE N TAPCON ANCHOR © 12" 0.C.
REQUIRED =7 " 7 v
7/ & v
i T b }
||"|| Il o
Il n i Ve N
s T / N
| POURED CONCRETE i / \
REQUIRED /
i N | \
Il > ¥ N [ |
I N3 yad N PLASTIC \_/ |
i / \ BUSHING * /
Il \ \ /
I -~ \ AN S
Il \ | ~ -
TP ) 1 / —_———
SPRING—LOADED - ) / e
system I / IHIdl /
” / ‘ i L
1} s
I i
I T {
i
i L%
" (utin)—] ! S5 |—-| . ! ?
i
i R
! | i T ©
I i Il . >
OR Il oo Y3 0
” f I 1” (Min w3
I s |i S| % t o @ OR @
Eg I il N h
i | | )
> EXISTING I I I 2 EXISTING I
S ouass 1 I | rop GLASS h
i |
3 Il | : IN-sPRING—LOADED ” OR @
< YSTEM
Z)': ” : ‘\:; A o TP ”
;% I ! ! % oF @ SPRING—LOADED Hn| — §
T3 i | | SYSTEM ” A1) or -
§§ i : : b 5| s TOP g
W I [ | ' N— SPRING—LOADED 3
33 I ! | | bl—’! N SYSTEM RN
SN
:% Il__1" MIN. SEPARATION | ' . ' ' Sk
30 Il T0 GLASIS | — oR : 1 MII7\_I.0 scﬁzzgf;ATION : S ! *S ol
W Il | f S
34 I ! 1T R ; f | LMY () (¢ ez
S I | | 83
& 1 | | mm T T T I 2
P\ T TE ee-e
s
3 .. Wy (b © ! A [ - s
s BEYOND, Y
S /] lle—" CMin.)—|1 I ' l ( ’ £3
3 I | | I [— Py 8
I | | oR I | | =2 ;E
Il I | BEYOND Il | xo
I I I ¢ / i | | I : OR IS
I I I Il | I ! | ”
Il I | I | | | | 3
I | | i | | ' | 3
I I ! ! ! ! l ! 3
1" (Min.)— ———1] Il
I (Min.)—|, I | | [ =
' ~ : ) or ( : ) l | | ! | OR
f | I j I I i ! I
I I
Il i j Il JI\L
Il s|i S * gorrom I | |
I S SPRING—LOADED M M
” SYSTEM 1l |
oM i LL_L] \@ @ @ i ° N @ @ OR @
SPRING—LOADED
SYSTEM\“\ (BEYOND) ” PLASTIC i (BEYOND)
” || BUSHING * M M
= BOTTOM
i
— SPRING—LOADED
= R . 1 SYSTEM
| OR (42D /ﬁ A/ LIV L =
- £ o g
AL L AL Sn7, 9 > . .
/ A g g W3 587 win A A1D OR @A2b o
>¥ ="’l% N é
POURED / g ‘ AN -
Recuren 412" M : | 2'%5"(Max.)x1,/4" THK. CONT. ALUM. ANGLE W/
PLASTIC in. . 1/4"8 TAPCON ANCHOR @ 12" 0.C. W/
BUSHING * POURED CONCRETE W/ IR CONCENTRATION OF (5)1/4"8 TAPCON ANCHORS @
4" MIN. TH/CKNESS » 4" 0.C. W/ 1 1/4" MIN. EMBEDMENT TO CONCRETE

CEILING & FLOOR MOUNTING INSTALLATION W/

Rl

REMOVABLE STORM BARS W/SPRING—LOADED SYSTEM *
i

SCALE :

1/4” =

(f'c=3000 ps:)
EQUIRED OR CONCRETE
BLOCK REQUIRED

BLOCK OR (3)3/8°¢ KWIK BOLT TZ W/ 2" MIN.
EMBEDMENT TO POURED CONCRETE @ 4" O.C. AT
STORM BAR LOCATION (SEE ELEVATION X).

WALL MOUNTING INSTALLATION W/
REMOVABLE STORM BARS W/SPRING—LOADED SYSTEM *

SECTION V = V (3)

* SEE SHEET
& DETAILS.

4 OF 19 FOR SPECS.

SCALE :

1/4" =

SPRING—LOADED
L SYSTEM *

EGrG

SECTION S — S :

SCALE :

L3/4”

/27 =17

or(8)
A

2"x5"(Max.)x1/4” THK.
CONT. ALUM. ANGLE

0.C. W/ 1 1/4” MIN. EMBEDMENT TO CONCRETE
BLOCK OR (3)3/8"¢ KWIK BOLT TZ W/ 2" MIN.
EMBEDMENT TO POURED CONCRETE @ 4” 0.C. AT
STORM BAR LOCATION.

ELEVATION

"—*}—4 " 4" 12"

CONCENTRATION OF (5)1/4"# TAPCON ANCHORS@ 4

SCALE :

/8" = 1"

1/4"¢ TAPCON ANCHORS @ 12"
0.C. (TYP @ EACH SIDE)

TEXAS LIC. # 90691

REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE

1.0.I. — 2006
DRAWN BY:
WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL—-UP SHUTIER F.P.
PROFESSIONAL ENGINEER 1211/08
ATLANTIC METAL EXTRUSIONS, LLC. A
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08-265
DRAWING No

1 3

2 4

SHEET 8 OF 19




. FUATE 1. 1/2%1 1/2°%1/8 FOR INSTALLATION INTO CONCRETE, 2 i el Eo e
POURED CONCRETE 1/8%%2°%2" ALUM. PLATE , i i STORM BAR DEPTH — )SE (2)1/4¢ TAPCON ANCHORS _ LUM. ANGLE W/ (1)3/¢
TAPCON ANCHOR @ 12 34734 7 W T
W/ 4" MIN. ,TH/CKNESS 1 W/ 1/4%8x 1 3/4” TAPCON oc. ~3/4"—=3/4"~ ALUM. ANGLE EA. EACH SIDE FOR ANY CONDITIONS 3/4"|3/4 BOLT TZ W/ 2" Min. EMBEDMEN
REQUIRED (f'e= 3000 / ANCHOR @ 12" 0.C. T === ~===7 SIDE BETWEEN 45 & 80 psf USE AT EACH SIDE.
psi) . [ N | CONDITIONS SHOWN ON TABLE 2
POURED CONCRETE , - . N ¥ 7| & USE (2) 3/8% Kwik BoiT 1z o~
W/ 4" MIN. THICKNESS ! - 3 N A L W/ 2” Min. EMBEDMENT EACH SIDE FOR A .
[T T el £ REQUIRED (f'c= 3000 B N | g (O ANy DESIGN LOAD AND Il &€y
o o o I LL[ . FFt auil -~
|_"_| gy : | p) / \ . 1N X, e FOR INSTALLATION INTO HEADERS USE
i -~ | o ~J 3) 1/4"8x3/4” TEK SCREW
I \ ! g
” NS S~ ! _/ | | vl O EACH' SIDE. 3 e ] /@ @
: OR
Il T T \\ | 3" Min. / I { H— |
Il | | | ED. / I el ” » - |
Il S, | \ | -D. 7 y f (3) 1/4"9x3/4” TEK SCREW e .
i b | | | - pd or AT EACH SIDE. ) R
Il T I h | y I =
I ! ! / I 4 ' \ . »
h ' ' / l =2 [T e e L= SECTION S — S (FOR FIXED STORM BAR EDGE OF (3) 1/4%0x3/4" TEK SCREW
I I I e A oQ | OPTIONAL WALL AT EACH SIDE.
” o - A — &4 | ) SCALE < NT-S: SECTION S2 — S2
| / oo FOR CA =
Il I I - : FOR CASES Y [ W%Ui ii—iggg 1 1/2%1 1/2%1/8% FOR INSTALLATION INTO CONCRETE, SCALE - N.TS
:I 1 (in)—e]| 1 S —— AN | W/oUT HEADER ” S ' ~3/4"—~3/4"~ STORM BAR DEPTH USE (2)1/4"0x7/8” CALK—IN * C
l|' : : s OPTIONA Il : T FASTENERS ALUM. ANGLE EA. SIDE égﬁgﬁ@slv gﬁﬁogfl?DioFORfA%R
TONAL | psf. =
” : : ” ' [ . * DESIGN LOADS BETWEEN N
I | | FASTENERS Iy ! ! ¥ / 40 & 80 psf USE CONDITIONS s MACHINE SCREW
I | | =" (Min.) : [ > & ¢ SHOWN ON TABLE 2 4 FULLY EMBEDDED
Il | I I | : oR @ o @l & (2)3/8”0x1 1/4” CALK—IN * INTO ANCHOR
W I | | @ I P o -~ ANCHORS EACH 'SIDE_FOR ANY 7 »
= ! I I ” | | = DESIGN LOAD AND SPAN CONDITIONS. , ANCHOR
< ! ! ! or @ sz I sz g FOR INSTALLATION INTO HEADERS USE S s
S EXISTING it : ' I l I I OR @ s :@ O (2) 1/4"#x3/4” TEK SCREW @ EACH
Lo Tas b I S— s N S AN SIDE DETAIL A
Il | EXISTING —| ™ T o s
ES Il |\:~ GLASS Il : ! J ’ (2)3/5’@ S.S. THRU SCALE : 7/2 =1
= l ! h | I BOLTS W/ NUT ., .
N i | OR @ I | ' @ Ok X 1/4"6-20 OR 3/8"5—16 MACHINE SCREWS
E% ” I “ | : | | oOR USED JOINTLY W/ 1/4"0x7/8" OR
I ” ” _
k> i | il ' N | SECTION S — S (FOR REMOVABLE STORM BAR J/8%0x1 174 CALK=IN ANCHORS RESPECTIVELY
s3 i | | Lo | I | SHALL BE LEFT TOGETHER W,/ ANCHORS AT THE TIME
W I | | e G | SCALE : N.T.S. STORM BARS ARE REMOVED. (SEE DET. A).
L) I L S ] - IBLE 7
ES 1" Min. @ @ @ DESIGN U 1 "1 " 1 1 "
S I SEPARATION I || s\ ! LOAD MAX. SLAT L MAX. POURED
30 I T0 GLASS oR u : : : STORM BAR i
By i . oR W (p.s.f.) SPAN HEIGHT CONCRETE W/ 4" MIN.
s I | iy — i THICKNESS REOU/Rm\
S I | m | (BEYOND) =0 11=5" OR CONCRETE
e I ! @ l | 45.0 =0 08 BLOCK /
' 17 (Mi 50" 10-1"
s in.) |
2 @OR‘ @ 1 : : % or @ 5=0" 17-2" EDGE OF — = =
! | = (seronD) T SR S = i t @D
t | ' ! | | o 5 2'%5"1,/4"%0"~6" .
i [ [ I s2 | s2| OR @ J._O,, ",)_ s ALUM. ANGLE AT NS Eeke 1]
I l ' I | | 60.0 4-0 9—11 EACH SIDE N (4)1,/4°0x3/4"
i | | I o o x
i | ) | i ' ' 5-0" 9-2" TEK ' SCREWS
i [ | oF I ' ' 3'-0 10'—4 ke ttt] Aok sioE (Tvp.).
i [ | i | 7=0" 9=6"
1 | | I lo oo 50 79’
” | ! I ! e FRrE 11/2%1 1/2%1/8" SECTION S1-S1
] — — ALUM. ANGLE EACH SIDE AS ALE T NT3S.
i T ) — ol 4-0" 56 SHOWN ON SECTION S—S
! 1+ tting]! | OR @ ! 3" Min.__| 50 69 255" 1/4” (Min) 2%5"%1,/4” (Min.)
- in. )— 2
l : : N o ED _~ CONT. ALUM. ANGLE, W/ CONT. ALUM. ANGLE, W/
' , , X v CONCENTRATION OF (3)3/8"8 CONCENTRATION OF (5)3/8°0
! i iy POURED CONCRETE +§ / | KWIK BOLT TZ W/ 2* MIN. POWER BOLTS W/ o2 M.
i A | s W/ 4" MIN. THICKNESS | % | I EMBEDMENT TO POURED EVBEDYENT 10 CONCRETE B
i I I REQUIRED | h 4 | | I @ OR CONCRETE @ 4” O.C. AT STORM O ol AT STORM B4
i ol I - / I 1000 | ~] \ BAR LOCATION AND REST Loca .
i g oo 666 ! | D l—”—| | [\ ! ] \ 1/4"¢ TAPCON @ 12" 0.C. \ 1/4’8 TAPCON @ 12" 0.C.
e -G or (2 AN I [ OLIO N S i AN 1
| e e e o | L 3" Min.___| | S | L L N
st 05 e | g < Ah | T 111 T
Faor ot e WA/LLZ)';/Z%E ' - X L OURED 7+ & |
N I — \ K
POWER BOLT ANCHORS W/ 1 1/2* | [ i ﬁ?NSEETMfN N 2 ©© ! @ or @ 157 S 4 o o 12 127
J Min. EMBEDMENT INTO CONCRETE . ‘ | \ THCKNESS < & B 7 12 4 1
W/ 5 N THOMESS  £2F /4% RO scrons R A I e 2R AN erevarion x . —(Hor (D
REQUIRED (f'e= 3000 /40 CALK= STORM BAR HEIGHT AND (2)3/8"% / A 2051 /4" (Min. :
psi) KIWIK BOLT TZ ANCHORS W/ 2" -7 I / CONT. A{UM(ANG‘LE SOALE # N TS T.D.1 2006
1 ” . —
FOR 3/8"8 CALK—IN ANCHORS 4172 Min=—>"-\  Min. EMBEDMENT INTO POURED -7 “\ PoureD —— ” ' ' i
OR 3/8" KWIK BOLT TZ ANCHORS 7 CONCRETE FOR GREATER LOADS, " TPOURED CONCRETE W/ CONCRETE W/ 4" MIN: DRAWN BY:
AND (4)1/4"0x3/4” TEK SCREWS 4" MIN. THICKNESS THICKNESS REQUIRED—————" - _ .
70 STORM BARS AT EACH SIDE. REQUIRED OR CONCRETE OR CONCRETE WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL—=UP SHUTTER F.P.
BLOCK BLOCK
PROFESSIONAL ENGINEER
CEILING & FLOOR MOUNTING SECTION V—V(2) INSTALLATION 12/11/08
W/ FIXED OR REMOVABLE STORM BARS W/ CONCRETE ANCHORS WALL MOUNTING SECTION V-V(1) INSTALLATION ATLANTIC METAL EXTRUSIONS, LLC.| ™7
= 6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
(SEE SECTION 'S FOR ANCHOR TYPE REQUIREMENT) VIRGINIA GARDENS, fL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
e SCALE : N.T.S. PHONE (305) 871-1530 FAX (305) 871—-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08—-265
DRAWING No

SINGLE SPAN SECTIONS AND DETAILS

SECTION V -

4

ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

TEXAS LIC. # 90691

REV.

NO

DESCRIPTION DATE REV. No DESCRIPTION

DATE

3

4

SHEET 9 OF 19




MAXIMUM STORM BAR SPAN FOR THIS INSTALLATION TYPE

SEE SCHEDULE ON SHEET 17

PLASTIC Yz 1/8"%x2"x2” ALUM. PLATE W/ 1/4"8x
BUSHING * / 1 3/4" TAPCON ANCHOR @ 12" O.C.
POURED CONCRETE 1/8"%2"%2" ALUM. PLATE W/ 1/4#x
REQUIRED (=7 "~ / 1 3/4" TAPCON ANCHOR @ 12" 0.C. ;
s » ~ /_
7 il 2 e
POURED | e BN
o CONCRETE / \
REQUIRED \
I B - \
I ¥3 A== \ |
1 N3 e N PLASTIC _/ /
I / \ BUSHING * /
1l \ /
1} —~ \ //
op |l ) i v _—
SPRING—LOADED - , / oy
SYSTEM 1! / IH@|
] 7 ‘ il L)
1} s
h I N {
I N ) Il + ;{
=" (Min.)—~| ” k;
i I [
I I I ©
1 HH @ or @ ” . 5
I * f—1" (uin.) g
I K
I s|i S| % i ~| @ OR @
I I N
1 e 30 |
EXISTING I I I S
GLASS Il I | rop EXISTING ——” or @
I I | GLASS
1 | | N—— SPRING-LOADED I
Il | | SYSTEM ”
I ! ‘\IL 0P i W
i | | SPRING—LOADED HIEH g
f | | SYSTEM || AT OR IS
I
Il | | OR @ h ( P
f | | :' St : sl L ToP §
I I | SPRING—LOADED
| 3
| L | P ) (i e 3,
I 1” MIN. SEPARATION | " . | <
~ = | 1” MIN. SEPARATION_ | | S s jm
I 10 GuAss ! OR Iy 70 GLASS | f 23
I I | LI s I | I H I =9
A I - =—olclol
| m T T T T Ire
! AN ® 0 | B e
| | OR Q
Il | /\/ I I i | | U | | & 8
Il I | OR :Hz " Min.)—1 | : : (BEYOND) 3
I I &
i | | (BEYOND) I | [ L l ' i
” : I I | — I \\If § &
| Il | | 14
I | | OR I | | | o
Il I | I | | | I OR s
i I Il | | [ ' 2
i : | % OR @ i ' ' L ' : 3
~—1" (Min. | Il |
I (in.)—, | i | | — =
I I | I 1] i | I OR
I | | Il | s | |
I I | \‘ I S | I
) olelo | |
” 3{' 4 2 sorTom I L +\r @ @
SPRING—LOADED }—‘
” @ OR @ SYSTEM I L1 [ ﬂ
SPRING—L OADED—) =L (BEYOND) 1 U s i|° oRr
- i I (BEYOND)
SYSTEM\HE I PLASTIC
” |l BUSHING * L M _m
l_"_| BOTTOM
I — SPRING—LOADED
@ or @ / /%/ m — SYSTEM
~ i
S | g v
HIH L AL Sy 52 7 i
s ) i ] w8 38w ATD or g
>¥ Hl% o - — =
POURED / ‘*; ‘ [H| AN P
CONCRETE i h o .
. i ] 2'x5"(Max.)x1/4" THK. CONT. ALUM. ANGLE W/
REQUIRED PLASTIC 41727 Min. A 1/4°8  TAPCON ANCHOR @ 12" 0.C. W/
BUSHING * POURED CONCRETE W/ NS CONCENTRATION OF (5)1/4"# TAPCON ANCHORS @
4” MIN. THICKNESS ~ 470C W/ 1 1/4” MIN. EMBEDMENT TO CONCRETE

CEILING & FLOOR MOUNTING INSTALLATION W/

(f'c=3000 psi)
REQUIRED OR CONCRETE
BLOCK REQUIRED

REMOVABLE STORM BARS W/SPRING—LOADED SYSTEM *

SCALE : 1/4" = 1"

BLOCK OR (3)3/8"¢ KWIK BOLT TZ W/ 2" MIN.
EMBEDMENT TO POURED CONCRETE @ 4” 0.C. AT
STORM BAR LOCATION (SEE ELEVATION X).

WALL MOUNTING INSTALLATION W/

REMOVABLE STORM BARS W/SPRING—LOADED SYSTEM *

* SEE SHEET 4 OF 19 FOR SPECS.
& DETAILS.

SECTIONS V = V (3)

SCALE : 1/4" = 1”

SPRING—LOADED
L SYSTEM *
el

SINGLE STORM BAR
SCALE : 1/2” = 1"

L 5,/4”

. W

L
B

@0

2"x5"(Max.)x1/4” THK.
CONT. ALUM. ANGLE

4/\/74
#:

ij

I

CONCENTRATION OF (5)1/4"¢ TAPCON ANCHORS®
0.C. W/ 1 1/4” MIN. EMBEDMENT TO CONCRETE
BLOCK OR (3)3/8"¢ KWIK BOLT TZ W/ 2" MIN.
EMBEDMENT TO POURED CONCRETE @ 4” 0.C. AT
STORM BAR LOCATION.

A I

12"

A

12*

(6)1/4"8 TAPCON ANCHORS @

12" 0.Cc. (TYP @ EACH SIDE)

ELEVATION / X

SCALE : 1/8" = 1”

1.0.I. — 2006
DRAWN BY:
WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL—-UP SHUTIER F.P.
PROFESSIONAL ENGINEER 1211/08
ATLANTIC METAL EXTRUSIONS, LLC. A
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08-265
DRAWING No

TEXAS LIC. # 90691

REV.

NO

DESCRIPTION DATE REV. No DESCRIPTION

DATE

3

4

SHEET 10 OF 19




2"%x3"(Max.)x1/8" CONT. ALUM. TUBE W/
1/4"8x1 3/4” TAPCON ANCHORS @ 12” O.C.

1/8"x2"%x2” ALUM. PLATE W/
1/472x3/4" (ITW BUILDEX) TEK SCREWS
@ 12" 0.C. TO TUBE

3" Min. E.D.

Z

iy

Iivauy 4

O

POURED
CONCRETE
REQUIRED

/?4, N \/@

FOR CASES
W,/0UT HEADER

FASTENERS

EXISTING —=]|
GLASS ”

a

Nop

f

I AN

BUILD-OUT TUBE

(BEYOND) I

ERRGLC,
@@

G16]0),
GG

(BEYOND)

I=CWE,
/_‘OR

POURED CONCRETE
4” MIN. THICKNESS
(f'c=3000 psi)

REQUIRED OR

CONCRETE BLOCK

REQUIRED

<«yvif

2"x7"(Max.)x1/4” CONT. ALUM. ANGLE

W/ 1/4"8 TAPCON ANCHORS @ 12" O.C.

W,/ CONCENTRATION SPECIFIED ON SCHEDULE
(SEE ELEVATION X)

OPTIONAL

BUILD—OUT TUBE
(BEYOND) I

2"4"(Min.)x1/8" CONT. ALUM.
TUBE W/ 1/48x1 3/4”
TAPCON ANCHORS @ 12" O.C.

1/8"%x2"x2” ALUM. PLATE W/
1/4"0x3/4” (ITW BUILDEX) TEK SCREWS
@ 12" 0.C. TO TUBE

-

‘ e
Q
H O
Y POURED ‘
£ CONCRETE
s REQUIRED ‘ ‘
] 7]
/ ‘ !
I |
I
I |
I
s |
I
I |
[
exisTNG —]| ‘ ‘
GLASS ”
I |
[
I |
Il 1” Min. SEPARATION
|| GLASS

. ye

i FOR CASES
W,/OUT HEADER
A—FASTENERS

\?g

e
(oD
maze

olete
%0

(BEYOND)

” 1” Min.

| (@Dor(a2)
[ —®@or(D)

/j¥OPTIONAL

N

1 1/2%1 7/2"x7/5"xA

STORM BAR DEPTH Alum.

3/4” 3/4”
‘ Typ. Typ. ‘
: FOR INSTALLATIONS AT TUBE &
N Q
NS il Lk | T HEADERS USE (2) 1/4”0x3/4" (ITW
o = O BUILDEX) TEK SCREWS EA. SIDE FOR )
I d L & @ STORM BARS & (3) 1/4"ox3/4"
LA O (ITW BUILDEX) TEK SCREWS EA. SIDE
2 | T FOR H) & () STORM BARS.
ay i
. | =
$ \ —OO® v O

USE (2) 1/4"#x3/4” (ITW BUILDEX) TEK
SCREWS EA. SIDE FOR (F)& (G) STORM
BARS & (3) 1/4"8x3/4" (ITW BUILDEX)

ANGLE EACH SIDE TEK SCREWS EA. SIDE FOR(H) &(/)STORM
BARS.
SECTION S3-S3
SCALE : 1/2" = 1"

ANCHORS & STORM BARS SCHEDULE FOR ELEVATION. &

CASES SUBSTRATE ANCHOR TYPE STORM BAR TYPE

BLOCK (3) 3/8"¢ POWER BOLT
CASE 1 @I @
CONCRETE (1) 3/8%# KWIK BOLT 1Z

BLOCK (3) 3/8"% POWER BOLT
o @0
CONCRETE | (1) 3/8"F KWIK BOLT TZ

i OO® = O

‘ ‘ 1 1/2°x1 1,/2"1,/8"xSTORM
BAR DEPTH ALUM. ANGLE

(SEE SECTION S3-S3).

1/4"8 TAPCON
I R ANCHOR
[l N @12” 0.Cc. (TYP.
)
i EACH SIDE) -
J ss i — i J ] L
e N =
o
Y W
NG ©
= oL 12” 12” 4” 4” 12” 12"
N : E =
2"%7"(Max.)x1/4" CONT.
‘ = J@ v \d ALUM. ANGLE (CASE ). SEE SCHEDULE.
=—H OR 2"x6"x1/4” CONT. ALUM.
TUBE & 2"%3"(Min.)x1/4"
7 2"%3"(Min.)x1,/4” CONT. ALUM. ANGLE W/ ALUM. ANGLE (CASE Il ONLY) ELEVATION
CONCENTRATION OF (5) 1/4"ox1 1/2" SOUE ; 18" = 17
POURED CONCRETE W/ (ITW BUILDEX) TEK SCREWS @ 1 1/2 : =
L, Tk ?ﬁ 542 STORM BAR LOCATION, REST @
(f'c=3000 psi) o
REQUIRED OR 2"x6"(Max.)x1/4” CONT. ALUM.
gggc%f BLOCK TUBE W/ CONCENTRATION SPECIFIED ON
U SCHEDULE (SEE ELEVATION X)
CASE y 1.0.I. — 2006
LAIL DRAWN BY:
60mm & 40mm ROLL—UP SHUTTER
WALTER A. TILLIT Jr. P.E. F.p.

FIXED STORM BAR CONNECTION AT BUILD-—0OUT

INSTALLATIONS W/ SHEET METAL SCREWS OR MACHINE SCREWS

NOTE:

SINGLE SPAN SECTIONS AND DETAILS
ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

SCALE : 1/4" = 1"

SECTION V = V (3)

PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871—1530 FAX (305) 871—1531

ATLANTIC METAL EXTRUSIONS, LLC.| %/

1243 ETRUSCAN WAY

INDIAN HARBOUR BEACH, FLORIDA 32937
PH: (859) 227-1320 FAX: (321) 777-6072 08-265

TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No

1 3
2 4

SHEET 11 OF 19




3"%3"(Max.)x1/8” CONT. ALUM. TUBE
W/ 27%2"1,/8°%0'-3"(Max.) ALUM.
ANGLE TO BUILD—-OUT TUBE W/

o 3 L 3’4"(Min.)x1/8" CONT. ALUM. TUBE W/
1/8"x2"%2" ALUM. PLATE W/ 1/4'8x3/4” o 0% /8"%0'—4"(Min.) ALUM. ANGLE TO
(ITW BUILDEX) TEK SCREWS @ 12” O.C.

(3)1/4”8x3/4” (ITW BUILDEX) TEK

BUILD—OUT TUBE W/ (3)1/4"#x3/4"
(/TW BUILDEX) TEK SCREWS FA. LEG &

7

1/8"x2"%x2" ALUM. PLATE W/ 1/4"#x3/4"
(ITW BUILDEX) TEK SCREWS @ 12” O.C.

SPRING—LOADED
SYSTEM *

SCREWS B, LEC & CONCRETE S CONCRETE ANCHORS @ 12" 0.C. FULL - ——
ANCHORS @ 12" O.C. FULL LENGTH LENGTH TO POURED CONCRETE /
T0 POURED CONCRETE J wffh — it ” 3 ‘
. © e . N
SE I N 338 L N\ —®©
POURED N3 m iND / NI M M V /
CONCRETE . | [ [ 7 . ! 27| IS ‘ =
REQUIRED 3 | ~ \ \® g w w ™ \ @ OR @
L: | T / - POURED < | T — ‘
§ / CONCRETE § /
N P REGURED N4 NN ‘\@ SECTION S — S :
7 ‘ } — 7 ‘ } } — SCALE : 1/2” = 1"
/
— L —T - L ~
\ 1oloNo ¥ 0O-0
i | i LR or
H | | ‘ l_—t}\—lgg or H ‘ | | ‘ m l—l m 4{
H | ==l -

- e B clo

H 17 Min. } - & O NG—LOADED ‘ 1" Min—| ‘ ; ‘ SPRING—L0ADED H\/T OR @
| L s ST | | ‘I\_I L IS o

i i
| e ] i r—®-0 g
EXISTING H or H | L’/z_ ‘ ‘
GLASS P i

H | | | L | | @) o : Teton e N
| ‘ ‘ or H ] ‘ X @12” 0.Cc. (TYP.

N n | EACH SIDE) || - |
O 1 = el e— 6 0@ —E =gt
T I eee — - 0-© \

H — /\/ @ or @ H ‘ ‘ ‘ m (BEYOND) 12" /12" \ 4 4 12" 12"
: T $ | | (BEYOND) I | ‘ ‘/////4 o 446 1/4" CONT. ALUM. SEE SCHEDULE.
~| H ?é}hl_%/%,—vgjﬂ' TUBE- TUBE (CASE Il ONLY)
H e T ®e© > ©0 ertuscposicon. | ELEVATION A\
« in. A 0. . v
\ n | H ‘ ‘ ‘ Sé’ug"xgl'\ﬁL/EW{ngﬁT.)ALuM. SCALE = 1/8" = 1
1" Min. or /L/@ or @ TUBE & 2°x3"(Min.)x1/4”
| | e H ‘ ‘ ‘ BEYOND) ALUM. ANGLE (CASE II ONLY)
D—-OUT TUBE— /‘ @ @ Jr\
ik © | g =@ O
or
H BOTTOM ‘ s ‘ ° ‘5 ‘ Is (BEYOND) 5* | *5 BOTTOM
SPRING—LOADED A0 [T L1 [ ’—U—‘ ‘ % SPRING—LOADED
,—H—‘ SYSTEM - — SYSTEM ANCHORS & STORM BARS SCHEDULE FOR ELEVATION. /X\
= A15)or@20) - (@15 o (@2
/ é ‘ H . or 4 ‘ @ Or CASES SUBSTRATE ANCHOR TYPE STORM BAR TYPE
a Lq R o .
3 I | I I 1 — é?: g T ‘ R — 1 éi = o @ @
i + . CASE 1 X
T T ;éé h i1 1714¥$ | P CONCRETE (1) 3/8"¢ KWIK BOLT 1Z
o AT 1 - . 7
: / : CONT. . ANGLE : %3"(Min.)x1,/4” CONT. . -
. - S Vz//x 77; s ))T(AZC:;ON ACHORS © 12" 06 3 goxl\?ct('%;f?fn’o//: of'opg) ?L/LiAﬂwfo?jg"W/ CASE 2 BLOCK (3) 3/8" POWER BOLT
" W/ CONCENTRATION SPECIFIED ON SCHEDULE (ITW BUILDEX) TEK SCREWS @ 1 1/2” - @,@
POURED CONCRETE (SEE ELEVATION X) POURED CONCRETE / 1029 OA; STORM BAR LOCATION, REST @ CONCRETE (1) 3/8"¢ KWIK BOLT 1Z
W/ 4” MIN. W/ 4" MIN. o
THICKNESS THICKNESS
(f'c=3H(IJOl((7Npsi) (f'e=3000 psi)
CONCRETE BL00K CONCRETE Lok
REQUIRED REQUIRED 4x6"(Max.)x1,/4” CONT. ALUM.
CASE | — Soteotie foer mowon T.D.l. — 2006
CASE Il DRAWN BY:
REMOVABLE STORM BAR CONNECTION AT BUILD—OUT WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL-UP SHUTIER
PROFESSIONAL ENGINEER
INSTALLATIONS W/SPRING—LOADED SYSTEM * ATLANTIC METAL EXTRUSIONS, LLC.| '#/*
SCALE - 1/4" = 17 6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
¥ SEE SHEET 4 OF 19 FOR SPECS. PHONE (305) 871-1530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08-265
& DETALS. DRAWING No

SECTIONS V = V (3)

TEXAS LIC. # 90691 REV. NO

DESCRIPTION DATE REV. No DESCRIPTION

DATE

3

4

SHEET 12 OF 19




POURED CONCRETE
W/ 6" MIN
THICKNESS REQUIRED

%

POURED CONCRETE
" ow on ” W/ 6” MIN
1/8"x2"°x2” ALUM. PLATE W/ 1/4"@x
7 %" TAPCON ANCHORS @ 12 0.c.  "ICKNESS REQUIRED '\

T £Q
I £

2'%2"%3/8"x MULuomﬁfpﬂn/

ALUM. ANGLE (EACH SIDE)
W/ (2)1/2"0 KWIK BOLT TZ I
ANCHORS W/ 3 1/4” Min.
EMBEDMENT INTO SLAB (Typ.
TOP & BOTTOM) I

* ¥
QL0
(ONLY FOR  W-W(2))
(9)1/4"8x 3/4" TEK SCREW FOR

@&9& (12)1/4"8x 3/4" TEK
CREW FOR (M).

z

WALL MOUNTING : SECTION W-W (3)

1/8"%2"x2" ALUM. PLATE W/
1/4"8x1 %" TAPCON ANCHORS @

W/ 5" MIN

- Q@D

3"%3°x3/8"x0'-3" (6061—T6) ALUM.
ANGLE W/(4)1/4"2x 3/4” TEK SCREW
TO HEADER & 1/2"¢ KWIK BOLT TZ
ANCHORS W/ 3 1/4" Min. EMBEDMENT
INTO WALL.

ALTERNATIVE 1

3"%3"%3/8"x0'-3" (6061-T6) ALUM. ANGLE FOR
SINGLE SPAN HEADERS & 3'x3"x3/8°x0'-6"
(6061—T6) ALUM. ANGLE FOR MULTIPLE SPAN
HEADERS W/ (1)1/2"¢ THRU BOLT TO MULLION THRU

I
/vll
EXISTING I

SCALE : 1/8" = 1"

ALUM. ANGLE TO SIDE RAIL W/ (3)1/4°¢ x 3/4”
TEK SCREW EA. LEG

/2"x4"(Max.)x1/B" ALUM. TUBE W/ 2x2"x1/8"

MAXIMUM MULLION SPAN FOR THIS INSTALLATION TYPE-

6LASS SIDE RAIL AT SINGLE HEADER SPANS & (2)1,/2"%
M /V THRU BOLTS OR W/ 7/8” 0.D.x3/32" THICK WASHER
FOR MA. HEADERS SPAN 4'-8" & W/ MAX. STORM
II BAR HEIGHT 12°=0" W/ DESIGN LOAD +160 psf. an +
Q/6 OR R/6 I 0/6 OR R/6 POURED CONCRETE Y

W/ 6" MIN
THICKNESS REQUIRED o

¥

[
|
i Y ®00

@@oﬁ@ﬁ"“i\ /‘@m@
|

[ |
[ _/ |
\ /
/

’

~

T
o
I . &
| - e < T =
||E o] BOTTOM, : -
—dls | = S
X POURED CONCRETE -— = f}‘ .|
/ Wcenies reuireD i 1\1,72 2" @0’?@
7 H ™ | | o o
iggfICI‘ZBLE ‘ 4 1/2” Min. ‘ —4 172" Min. Typ—= }5:3 ‘ﬁ:’m \iﬁiﬁ%%ﬁ 1_/{1 "o{(s%s/’.;_"rii'KAL;(l:%Ew
| TO HEADER & 1/2"0~KVI/_IK BOLT TZ
FLOOR/CEILING MOUNTING : | (©) (D) migtare s 3 174" Min. EMBEOMENT
SECTION W-W (1), W/O HEADER — AL L (©)orE)
SECTION W-W (2), W/HEADER ALTERNATIVE 2
SCALE = 178" = 17 WALL MOUNTING : SECTION W-W(3)
SCALE : 1/8” = 1"
X NOTE: NOTE:

USE (L) HEADER ONLY FOR SINGLE SPAN
INSTALLATIONS, IF MULTIPLE SPANS ARE NEEDED, THEN
USE DOUBLE MULLIONS W/3" GAP IN BETWEEN
THEMSELVES FOR EACH INDIVIDUAL SPAN.

ANY STORM BAR HEIGHT

INSTALLATION DETAILS SHOWN ON ALTERNATIVES 1 & 2 ARE VALID FOR

FOR DESIGN LOADS BETWEEN 65 psf TO 120 psf USE MAX. STORM
BAR HEIGHT AND HEADER SPAN CONDITIONS SHOWN ON TABLE 5. USE
ALTERNATIVE 3 FOR LOADS GREATER THAN 120 psf.

AND HEADER SPAN CONDITION UNDER 65 psf,

®— —
1/2° |— 1/2”
11"

OO e

3%3" © :7 l §

ANGLE - =
33" ALUM. ANGLE 1T I | @ @
@@ I | [ 0@

l

ELEVA T/ONA\

SCALE : 1/8" = 1"

ELEVATION /X1

SCALE : 1/8" = 1"

TYPICAL HEADER

CONNECTION AT ENDS:

SEC

TION W-W

POURED CONCRETE

THICKNESS REQUIRED

7

BEYOND

@D K)or

O
Q.

(EXTENDED PASSED OPENING)

4 1/2"
MIN. ED

7 1/2:”4 1/2"1"]
YN8

2 1/2"

I__======\\
I -
/
[
\
\\
e
1 ~ — } Il 1
1|
\ - Laser

2 1/2
3/4

7/

2"x4"x1/4"x0'-9"
W/ (4)1/4"8 THRU BOLT THRU HEADER &
ANGLES, AND (3)3/8"8 KWIK BOLT TZ

ANCHORS W/ 2"

EDGE IF APPLICABLE—

L Dl
o o _ o

(2)2"x4"%1/4"x0"-9" ALUM. ANGLE W/
(4)1/4"0 THRU BOLT THRU HEADER
AND ANGLES & (3)3/8°0 KWIK BOLT
TZ ANCHORS TO WALL EACH ANGLE

W/ 2" Min. EMBEDMENT INTO WALL

ALUM. ANGLE

Min. EMBEDMENT INTO WALL.

USE 2"x7’x1/4” ALUM. ANGLES FOR CASES

W/ 3" BUILD—OUT TUBE.

ELEVATION /X2

SCALE : 1/8" = 17

TYPICAL HEADER CONNECTION AT ENDS:

ALTERNATIVE 3

WALL MOUNTING : SECTION W-W(3)

SCALE : 1/8" =

17

NOTE:
VALID ALSO FOR ANY SPAN AND LOAD CONDITION

SECTION W-W

2"x2"x1/4"x0’—-6" ALUM. ANGLE EA.
SIDE W/ (2)3/8"¢ KWIK BOLT TZ

34"

2"%MULLION’S DEPTHx1/8” CONT.
ALUM. TUBE W/ 27%2"1/8"%0'2"
ALUM. ANGLE TO MULLION W/ (3)
1/4” x 3/4” TEK SCREW EA. LEG.
(TYP TOP/BOTTOM)

T NO HEADER & STORM BAR ALLOWED.
I UST SPLIT ROLL UP MULLIONS &
TRACKS W/ FACE MOUNT.

- @@=@

+ MAX. HEADER SPAN SHALL NOT EXCEED VALUES SHOWN ON

SCHEDULE ON SHEET 18.

NOTE 1:

EXISTING WALL MAY BE CONCRETE BLOCK W/ 1 1,/2" Min. ANCHOR EMBEDMENT
FOR DESIGN LOADS UP TO 80.0 psf W/ 9'-0" Max. MULLION HEIGHT AND 5'-0"
MAX. MULLION SPACING AND SHALL BE 4" MIN. THICK POURED CONCRETE W/ 2"
Min. ANCHOR EMBEDMENT FOR GREATER LOADS.

TABLE 5 BOLTS W/ 2* Min. EMBEDMENT TO
— WALL & (2)3/8"¢ S.S. THRU BOLTS
DESIGN L7 MAX. L MAX.D) ®&©| TO MULLION.
LOAD STORM BAR | HEADER
"W” (p.s.f.) HEIGHT SPAN +
6'—0" 16'-0"
65.0 8’0" 13'-10"
0—0" 125" POURED CONCRETE
12'-0" 114" AL —
14'=0" 106"
e /
70.0 10-0" 11'=11"
12’-0" 10'=11"
14’-0" 10°—1"
6'-0" 14'-5"
8'-0" 12'-6"
80.0 100" T EXISTNG —]
12=0" 10'-2"
14'-0" 9'-3"
6'-0" 137"
80" 11°-9”
90.0 10'-0" 10-5"
12’-0" 9'-7"
14’-0" 8'-3
6’-0" 12°-11"
100.0 8'-0" 11'-2"
100" 100" SEE NOTE 1
12’-0” 8'-7"
140" 7'—4”
6'—0" 11'-9"
120.0 80" 10'-2"
10'—0" 8'—7"
12'=0” 7'—1"
14'-0" 6'-2"

7

7]

@OO
g

1"x1"%1/8"xCONT. ALUM ANGLE
W/ 1/4"8x1/2” TEK SCREW @ 12" 0.C.

V"2"x2"%1/4"x0'-6" ALUM. ANGLE EA. SIDE W/

(2)3/8"# POWER BOLT ANCHORS W/ 1 1/2” Min.
EMBEDMENT INTO CONCRETE BLOCK WALL Ft
DESIGN LOADS UP TO 80 psf & MULLIONS(N) &
FOR GREATER LOADS AND SPAN CONDITIONS USE
(2)3/8"8 KWIK BOLT TZ ANCHORS W/ 2” Min.

EMBEDMENT ONLY INTO POURED CONCRETE WALL (4"
MIN. THICK) & (2)3/8"@ THRU BOLTS THRU MULLION

AND ANGLES.

WALL MOUNTING : MULLION CONNECTION

AT TOP & BOTTOM : SECTION W-W (1)

SCALE : 1/8” = 1"

T.D.I. — 2006
DRAWN BY:
mm 40mm R —UP SHUTTER
WALTER A. TILLIT Jr. P.E. 60mm & 40 OLL=UP SHUTTE, FP.
PROFESSIONAL ENGINEER 12/11/08
ATLANTIC METAL EXTRUSIONS, LLC. fNA
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08—-265
TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
! - SHEET 13 OF 19




1/4°8x4” LONG
SCREW* @ Ea. STUD

~It~oPTioNAL
woop HEADERJ
REQUIRED e —
I u
I I
| R
/:
EXISTING :
GLASS I
|
|
i |
ISEPARATION
| 70 GLASS )
|
)/
|
I
[ 7
I @)@
| )
|
|
I
I
- lireoce
ol e-e
I )
2"x4” CONT. [ %@ .@
SILL PLATE L T o
REQUIRED = l
1] 1|
< - 1°%2"1,/8" CONT. ALUM.
ANGLE (6063—T6 ALLOY)
1/4"0x4” SCREWS*
@ 12" 0.C. @
\ MIDWIDTH OF PLATE

WALL MOUNTING INSTALLATION
SINGLE SPAN CONDITION

N. T. S.

2°%4” WOOD STUDS
REQUIRED @ CORNER
/ (TYPICAL)
/ |
 —
—_ 2" Min: 2" Min /<,>
P
s ) ) ) | ] - y‘
? = 1) e = j]t;_ 5
rEo £Q - < 1/4°0x4” LONG SCREWS*
e [E @ 6°0.c. W/ 1 1/2” Min. 2"4” STUDS
OPEN HOLE & ,, OR@ OR@ - THREADED PENETRATION TO
COVER W,/ NYLON 1/4 . @@ RN EXISTING WOOD STUD.
CAP Max Max
@OR@ @@ OPEN HOLE &
PLAN A (SECTION) COVER W/ NYLON / /
GLG
SCALE : 3/8” = 1” /
o ? | — 24" woop STUDS
2x4” WOOD STUDS REQUIRED REQUIRED @ CORNER
@ CORNER (TYPICAL) / (TYPICAL)
2°%2"%1/8” CONT. ALUM. /
ANGLE (6063—T6 ALLOY) = / —2" Min.
1/4"8x4” LONG SCREWS* @ 4” 0.C. FOR
LAG SCREW AND 3 1/2” 0.C. FOR TAPCON
é ANCHORS W/ 1 1/2” Min. THREADED /
\ . / ” »
gl PENETRATION TO EXISTING WOOD STUD | ma” LONG SCREWS
- 1/4"9x3/4" TEK @ 6" 0.c W/ 1 1/2"
y = ) /a” SCREW @ 6” O.C. Min. THREADED
NGl el ‘ PENETRATION TO EXISTING
<\ J .  Max. WOOD STUD.
= ‘ ’ = U7 12707 1/27]
~ EQ EQ + S
L e 1"%3"%1/8", 2"%3"x1/8"
1/4"0x3/4” TEK ____— 3%3"%1/8” OR 3'%4"x1/8"
®©0 (4D or (42) SCREW @ 6" 0.C. \é CONT. BUILD—OUT TUBE.
GLG, = »
OPEN HOLE & — =
PLAN B (SECTION OPEN HOLE & COVER W,/ NYLON - ‘ f
COVER W/ NYLON CAP
INSIDE _MOUNT R W £ E0 Z. @) or@2)
SCALE : 3/8” = 1” @@
1/4" Max — |- @OR@
NOTES:
1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO 90.0 psf. PLAN C (SECTION
2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2 M .,
W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. SCALE : 3/8" = 1
3. MINIMUM PENETRATION OF SCREWS* INTO WOOD MEMBER TO BE 1 1,/2”
4. * SCREWS = LAG SCREWS OR TAPCONS. T.D.I. — 2006
DRAWN BY:
60mm & 40mm ROLL—UP SHUTTER
WALTER A. TILLIT Jr. P.E. F.P.
PROFESSIONAL ENGINEER 121108
ATLANTIC METAL EXTRUSIONS, LLC. fNA
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871—1531 PH: (859) 227-1320 FAX: (321) 777-6072 08_265
TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
; - SHEET 14 OF 19




SLAT PERFORMANCE CHART: MAXIMUM NEGATIVE DESIGN PRESSURE RATING

"W”(p.s.f) AND CORRESPONDING MAXIMUM SIAT SPAN "L” FOR TYPE 1 & 2 SLAT

(USE MAXIMUM VALUES BETWEEN POSITIVE & NEGATIVE LOADS)

F—t—

=
- - - =

QUADRUPLE SPAN

m] m] ]
TRIPLE_SPAN

——]

=]

E 5
DOUBLE SPAN

F—t—

(=

=]

SINGLE SPAN

SPAN DEFINITION

* MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS SHALL
BE MEASURED FROM BACK OF SLAT TO GLASS AND SHALL BE 17

st rvee | AD wy sive ran @) | @D wy sioe ra © | @D wy sioe ran @) | @2 wy sie ran € |AB2 wy sie ran ET)
MAXIMUM
D%%{ng é%D MAXIMUM SLAT SPAN MAXIMUM SLAT SPAN MAXIMUM SLAT SPAN MAXIMUM SLAT SPAN MAXIMUM SLAT SPAN

25.0 8'-4" 7'-4" 7'-0" 5'-6" 5'-0"
30.0 7'—-11" 6'-9 6-7" 5-3" 4'-9”
35.0 7’7 6'—6 6—4" 5-0" 4'-6"
40.0 3 6'—3 6'—1" 4'—10” 4'—a”
45.0 1” 6-0" 5—11" 4'-8" 4'-2"
50.0 —10” 5'—-10” 58" 4—7" 4'—1"
55.0 6'-8" 5'-8" 5-7" 4'-5" 4'-0"
60.0 6-6" 5-7" 5'-5" 4'—4” 3'-10”
65.0 6—4" 5'-5" 5-4’ 4-3" 3'-9”
70.0 6-3" 5'-4" 5-2" 4'-2" 3'-8"
75.0 6'-1" 5-3" 5-1" 4’-1" 3-8"
80.0 60" 5-3" 5'-0" 4’-0" 3'-7"
85.0 5'—10" 5-0" 4'-11” 3'—11" 3'-6"
90.0 5-8" 4'—11 4'-10" 3'-10" 3-5"
95.0 5-6" 4'-10" 4'-9” 3-9” 3-5"
100.0 5'—4”7 4’-8” 4’-8” 3_9” 347
105.0 5-3" 4'-7" 4'=7" 3-8 3'—4"

110.0 5—1" 4’'-7" 4’7" 3-8 3-3"
115.0 5-0" 4'-6" 4'-6" 3-7" 3-3"
120.0 4'-11" 4’-5" 4'-5" 3—-6 307
125.0 4’-10" 4’-5" 4’-5" 3'-5" 3'-0"
130.0 4'-8" 4'-4" 4—4” 3 4 S_gn
135.0 4’'-7" 4'-4" 4°—4" 3'-4 3'=1"
140.0 4'—6" 4'-3" 4'—3" 3_3" 3_0”
145.0 4'-5" 4'-3" 4'—3" 32 3_0”
150.0 4'-5" 4-2" 4'-2" 3'-2 3'-0"
155.0 14'—4" 4'—0" 42" 317 PO
760.0 43" 4-1" 4'-1" 3’0" 2-11"

TEXAS LIC. # 90691

REV. NO DESCRIPTION

DATE REV. No

DESCRIPTION

DATE

1.0.I. — 2006
DRAWN BY:
WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL=UP SHUTTER FP.
PROFESSIONAL ENGINEER 121108
ATLANTIC METAL EXTRUSIONS, LLC. A
6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY
VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871-1531 PH: (859) 227-1320 FAX: (321) 777-6072 08—-265
DRAWING No

3

4

SHEET 15 OF 19




STORM BAR LOADING CHART
MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND CORRESPONDING MAXIMUM SPAN "L”

FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE & NEGATIVE LOADS)

MAX. SPAN FOR STORM BARS W/ REGULAR CONCRETE ANCHORS

5 5
3 LS
N i
o f-' |-
L S <Y T T e T Y O R O
©
.,ﬁDuHuuuuuunuOuuu
QN T -0 MO |~ | | O ¢
S AR AR R AR AR AR AR
oo lnlo | NINININ[o oo o[ {1t
ol B
M"4m5f.0"”,0"".7"""",7""""""".7,0""
XIS lol =N N[~ |o|an|~]n oM~ |~|o|on |6 |+ (™| ~|o|~|= o N
e N SR N A R R AN AR A R A N A A A R I A R N I
WxS,4799988877777555655555555
~a2 | x
oMl
x .
_m.._nW4"n0"_.nu"n£m/uuuu“/uunwlnnnu"nnon"uu"
S R =3 e o Rl i el e e R e e o R A el A A I
S IS T T T R D DU A
WIRIR2 |00 o | |n || |N[N|N[IN|N N[N ]|o o o]0 |0 o
*
IOH»7nnnn»n,,,n;;;;;n;;;;;
T RO [N |~ |0 |© | [~ |~ |Q |3 |3 |3 |~ |3 |8 |3 |3 |3 |~ |3 |3 |3 |3 |3
Y AR AR R R A A L B N RN R RS S N R AN R A KW N SR A o)
Do ool o o [ [0 [0 L0
v =~~~ | |Y oo oo o oo || |[©0 o |NIN|N[N[N[N
[
[N B
o | w
=S A L L T T T T I T O A T A T B O
N | ©
©
ol F I I [ 190 fo [ i[5 [2 [
= - = o =
RAT | T D T e e e e
~ IN o [© o o v v | |v v v |+ |+
@| F
G,_.O,,,n‘I,,,,nnu,,nnnnw/n0nuununn
o2 oo N ™5 oo [no R oo Y™ =0T TN (€[ T
N I L U P R T T T P O e N S N A O O O
3 E3N B NN LN RS RO O S EC IO I IS I B AT T TN A D D A D A D
X
@4%.,, 2 2 2
F_XMA..,.quuuu7uuuuu0uuuuuuuu70u
- Iz lol= oo o |a |~ |o|o | |N|o |~ |a N o |t MN[0 |= = o
S IR IR o (T T e e T
s,3888777666666555555555444
*
:00,4’»»..”4’»n»»»n»u7»n»n»n»u0»n»n
Tl o |y [~ [N Mmoo oy |~ |~ |N|o |t ||~ |0 <o |w N |o
N AR AR AR AR A A A A N A N
o o0 oo n NN NN o oo o oo o oo b o o o
2
ol |,
N
<Y U L T T T T T T T Y O T B O
~lo o
©
:FO»»»»»HO»»»»»»MI
Q|| b|IN|IO|I=|n|o (% M|[~|[o|~
SN T TR R T T I L I e T O O A I
DO D LD YT TR M
®| |
L P S e P P T TS S P P P PO O O PR PO L S PO O O PO T
12 oIV M D0 M=~ |® |0 0| |Y | N |~ |0 |~ = |0 || o N |6 o
ERN ST 158 U AR A U U o S A S O S S Y U A R e R N A N A
Hm1m,665555544444444433333333
x <~
®2 |2 [
_..._XM4 ] ] ER R R
PnDnO:.,:::.,:::::.,.,:::::::::.,.,
Wzm_/:7:::7:::::70:::::::::77
& MR AR A AR R A R A R AR AR AR A R
"IN oo oo lb|b|b|b b b [ ¥ [% ¥ [ ¥ [ ¥ [% % [x"mW
*
,nuuunnannnnnn»uonu"uunn»»On»u_/u
0 KiRERE R AR AR R I R AR R R R RN
LN IO I A U IS S L U O T I A L I L I O R RS U R
<\8877766666,55555555,4_*,44444
ol .
©IN Iv
I S I T T T T T T T T T I O O A A
o o
©
olol: |2 |2 ot |2 |2 |2 |2 |2 |w=|o
Slom|o|~|w ||+ |(™m|~|o|~|=
m L L R L O I P B O B e B R B S R T R S e | | | | | | | | | | | |
B DI SR R N A R N
©| F
Dn:G5nnnnnnﬂ/nnnnnnnnﬂ/rOnnn»n»n
syl oy ooy =~ |2 |n oo ™ N~ o |~ |= oo NN o b o
NG R N AR AR AR A A A N A A
s 13 l. oo LB LB |F | [F[F[(FIF T[T ™ (MM (W
Sx12 |+~
e I
oY 2 1L | : : |
el T T L TS P TO e N O PO A L O O PO PO A e O A O O N N
N S ~|ou|N |~ oo+ N0 |~ |0 |0 N |v (¥ ™|~ 0|0 |~ |S |0
S - IS U U U R A A S T D R O A O S O R A R A B A A
D Jolojoo v (b [L|L LB [T |IT (T[T (T[T (T[T [T M MM
% |P
Onunﬂlnnnn»:Onnnn»nﬂ/:Onnnnnn
Tlomol~|o Ny | |o | o oo (MmN |0 |~ |=|o|n [N oo v
S AR AR R AR A A A A A A AN
/\777666666555555544444444
2
~ [ ©»
s - 2
WnNuDs 3
SH3E o Qlu|o|v|io|v| V||V io|v|D
<uS S|V 9V olLviolvuov| SIS |2 |N|NM M FIFIB|IV|S
Qs N VO OININQ|X| ||~~~ ~|~ |~ |~ |~~~ |~ |~ |~
s uW m..u

STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

*

- 2006

DRAWN BY:

T.D.1.

F.P.
12/11,/08
DATE

08-265

DRAWING No

SHEET 16 OF 19

60mm & 40mm ROLL—UP SHUTTER
ATLANTIC METAL EXTRUSIONS, LLC.

1243 ETRUSCAN WAY

INDIAN HARBOUR BEACH, FLORIDA 32937
PH: (859) 227-1320 FAX: (321) 777-6072

DATE

DESCRIPTION

REV. No

DATE

DESCRIPTION

REV. NO

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305

VIRGINIA GARDENS, FL 33166
PHONE (305) 871—1530 FAX (305) 871—1531

TEXAS LIC. # 90691




STORM BAR LOADING CHART

MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND CORRESPONDING MAXIMUM
SPAN "L” FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.
(USE MAXIMUM VALUES BETWEEN POSITIVE & NEGATIVE LOADS)

MAX. SPAN FOR STORM BARS W/SPRING—LOADED SYSTEM

TYPE 1 STORM BAR TYPE 2 STORM BAR TYPE 3 STORM BAR TYPE 4 STORM BAR
MAXIMUM 2%2%1,/4” 2%3’%1/8” 2%4’%1/8” 2%4%1,/4”
DESIGN
. ”LOAD STORM B/iR SPACING STORM BfR‘ SPACING STORM B/iR SPACING STORM B;il-‘x’ SPACING
W pat) < 2-0 2" 10 3 3 T0 4’ 4’ 70 5’ 5" 10 6’ < 2'-0 2" 170 3 3 T0 4’ 4’ 70 5’ 5" T0 6’ < 2'-0" 2" 170 3 3 10 4’ 4’ 70 5° 5" T0 6’ < 2'-0" 2’170 3 3 10 4° 4’ 70 5’ 510 6’
25 7'-6" 7'-6" 7'-6" 7'-6" 7'=1" 7'-6" 7'-6" 7'-6" 7'-6" 7'=1" 10'-0" 10'-0" | 9'-7" 7'-8 6'—4 11'-6" 11'-6" 10-7" 8'-6" 7'=1"
30 7'-6" 7'-6" 7'-6" 7=1" s-11"| 7-6" 7'-6" 7'-6" 7=1" 511" | 10-0" 10-0” | 8'-0” 6'-4 5'—4 11'-6”" 11°-6" | 8-10" 7'=1" 511"
35 7'—6" 7'-6" 7'-6" 6’-1" 5-0" 7'—6" 7'-6" 7'-6" 6—1" 5-0" 10'-0" | 9-1” 6'-10" 5-5 4'-6 11'-6" 10°~1 7'=7 61 5-0"
40 7'—6" 7'-6" 6'-8" 5—4" 4'-5" 7'-6" 7'-6" 6'-8" 5'—4" 4'-5" 10'-0” | 8&-o0 60" 1'-9 1'-0 11'-6" | &-10 6'-8 5'—4” 4'-5"
45 7'-6" 7'-6" 5—11" | 4-8" - 7'-6" 7'-6" 5—11" | 4’-8" - 10'-0 7=1" 5'—4” 4’-3" - 11'-6" 7’10 5-11" 4'-8" -
50 7'-6" 7'=1” 5'—4" 4'-3" - 7'-6" 7'=1” 5'—4" 4'-3" - 9’-7" 6'-4” 4'-9” - - 10'-7" 7'=1 5'-4” 4-3" -
55 7'-6" 6’5" 4'-10" - - 7'-6" 6’5" 4-10" - - 8'-8" 5'-9” 4'-4” - - 9'-8 6'-5 4’-10 - -
60 7'-6" 5—11" 4'-5" - - 7'-6" 5-11" | 4-5" - - 8-0" 5-4" 4'-0" - - 8-10 511" 4'-5" - -
65 7'-6" 5-5" 4'=1" - - 7’6" 5-5" 4'—1 - - 7'—4" 4'-11" - - - 8-2 5'-5" 4'—1 - -
70 7'-6" 5-0 - - - 7'-6" 5-0" - - - 6-10" 4-6" - - - 7'=7 5'-0" - - -
75 7=1" 4'-8 - - - 7=1" 4'-8” - - - 6'—4" 4'-3" - - - 7=1" 4'-8" - - -
80 6'-8" 4'-5 - - - 6'-8" 4'-5" - - - 6’0 4'-0" - - - 6'-8" 4'-5" - - -
85 6'-3" 4'-2 - - - 6-3" 4'-2" - - - 5'-7 - - - - 6-3" 4'-2" - - -
90 5—11" - - - - 5—11 - - - - 5'—4 - - - - 5—11" - - - -
95 5'-7" - - - - 5-7" - - - - 5'-0 - - - - 5-7" - - - -
100 5'—4" - - - - 5—4" - - - - 4'-9 - - - - 5'—4 - - - -
105 5-0" - - - - 5-0" - - - - 1'-6 - - - - 5'-0 - - - -
110 4'-10” - - - - 4'-10" - - - - 4'—4 - - - - 4’-10" - - - -
115 4-7" - - - - 4-7" - - - - 4'-2 - - - - 4-7" - - - -
120 4'-5" - - - - 4'-5" - - - - 4'-0 - - - - 4'-5" - - - -
125 4'-3" - - - - 4'-3" - - - - - - - - - 4'-3" - - - -
130 4-1" - - - - 4-1" - - - - - - - - - 4'-1" - - - -
*  STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.
T.D.I. — 2006
WALTER A. TILLIT Jr. P.E 60mm & 40mm ROLL—UP SHUTTER pramn oY

PROFESSIONAL ENGINEER

ATLANTIC METAL EXTRUSIONS, LLC.| %/

6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY

VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871—1531 PH: (859) 227-1320 FAX: (321) 777-6072 08_265
TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIFTION DATE DRAWING No

1 3
2 4

SHEET 17 OF 19




HEADER LOADING CHART MAXIMUM NEGATIVE DESIGN PRESSURE RATING "W” (p.s.f

AND CORRESPONDING MAXIMUM SPAN "L” FOR A GIVEN TYPE OF HEADER.
(USE MAXIMUM VALUES BETWEEN POSITIVE & NEGATIVE LOADS)

TYPE (1) HEADER (J)) TYPE (2) HEADER ®) TYPE (3) HEADER
MAXIMUM 2" x 4" x 1/8” 2" x 4" x 1/4” 2" x 6" x 1/4”
DESIGN
,W,,L?gg " STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
< 5-07 5 70 8 8 10 10° < 6-0" 6 10 8 8 10 10° | 100710 12°| 12" TO 14 < 6'-07 6 10 8 8 10 10° | 10" TO 12°| 122 TO 14’
40.0 OR LESS| 12°-2" 9'-8" 8'-8" 14’=10" 12'-10" 11°-6" 10'-6" 9'-9” 19'—4” 17°-8" 15°-9” 14°-5" 13°-4"
45.0 117°-6" 9'—1” 8’2" 14’-0" 12'=-2" 170°-10" 9'—171" g-2" 18'-10" 16'-8" 14°—11" 13=7” 12'=7"
50.0 10°—11" 8'-8" 79" 13'-4” 11'-6" 10°—4" 9'—5" 8-8” 18'-3" 15°-9” 14°—1" 12'=11” 11°=11"
55.0 10°-5" 8'-3" 7' =4 12°-8”" 110" 9'-10" 9'-0" 8'—4” 17'-5" 151" 13'-6" 12'-3" 115"
60.0 10°-0" 711" 7'—1" 12°=2" 10°-6" 9'-5" 8'-7" 7'=11" 16'-8" 14°'-5" 12°=11" 11-9” 10°—11"
65.0 9'-7" 7'-7" 6'-9" 11°-8”" 10—-1" 9'-0" 8'-3” 7'-8” 16-0" 13°-10" 12°-5" 11°-4” 10'-6"
70.0 9'-3" 74" 6’6" 11'-3" 9'-9” 8'-8" 7'—11" 7'—4” 15'-5" 13’—-4" 11°—=11" 10°-11" 10°-1"
75.0 8—11" 7'=1" 6'-4" 10°-10" 9'-5" 8'-5" 7'-8”" 7' =1 14—11" 12°=11" 11°-6" 10'—6" 9’-9”
80.0 8'-8" 6'-10" 6'-1" 10°-6" 9'-1" 8'-2" 7'-5" 6'—11" 14'-5" 12°-6” 11°=2" 10°-2" 9’-5"
85.0 8'—-4" 6'-7" 5—11” 10°-2" 8'-10" 7=11" 7'-3" 6'-8" 14’-0" 12°-1” 10°-10" 9'—11" 9’-2”
90.0 8'-2" 6'-5" 5'-9” 9'—11” 8'-7" 7'-8" 7'—0" 6—6" 13'=7" 11°-9” 10°-6" 9’-7” 8'-11"
95.0 7'—=11" 6'-3" 5-7" 9’-8” 8'—4" 7'-6" 6'—10" 6'—4" 13'-3" 11’-5" 10°-3" 9'—4” 8'-8”"
100.0 7'-9" 6'—1" 5-6" 9’-5" 8-2" 7'-3" 6'-8" 6'-2" 12'—11" 11°=2" 10°=0" 9’—1” 8-5"
105.0 7'-6" 5—-11" 5'—4 9'-2" 7'=11" 7'-1" 6'—6" 6'-0” 12'=7" 10°-11” 9'-9” 8—11" 8-3"
110.0 7'—4" 5—10" 5'-2" 9’-0”" 7'-9” 6'-11" 6'—4" 510" 12'-3" 10°-8” 9'-6" 8-8" 8-1"
115.0 7'-2" 5'-8" 5—-1" 8-9” 7'=7" 6'-9" 6'—2" 5'-9” 12’'-0" 10°-5" 9'-4" 8'—6" 7'-10"
120.0 7'—1" 5-7" 5-0" 8-7" 7'-5" 6'-8" 6'—1" 57" 11'-9” 10°=-2" 9'-1" 8'—4" 7-8"
125.0 6'—11" 5'-6" 4’-11" 8’-5" 7'-3" 6'-6" 5—=11" 5'-6" 11'-6" 10°-0" 8—-11" 8'—-2" 7=7"
130.0 6'-9” 54 4'-9” 8-3" 7'=2" 6'-5" 5'—10" 5'-5" 114" 9’-9” 8-9” 8'-0" 7' -5"
135.0 6'-8" 5'-3" 4'-8" 8-1" 7'-0" 6'-3" 5'-9” 5'—4”" 11°—1" 9’-7" 8-7" 7=10" 73"
140.0 6’-6" 5-2" 4’-7" 7'=11" 6—11" 6'-2" 5'-7" 5'-2" 10°-11" 9'-5" 8'-5" 78" 7'=-2"
145.0 6’-5" 5-1”" 4’-6" 7'=10" 6'-9” 6'—1" 5'-6" 5—1" 10"-8" 9'-3” 8'-3" 7'=7" 7'-0"
150.0 6'-4" 5-0" 4'-5" 7'-8" 6'-8" 5'—11" 5'-5" 5-0" 10°-6” 9'-1” 8'-2" 7-5" 6'—11"
155.0 6-2" 4’'—11" 4’-5" 7'=-7" 6-7" 5'-10" 5'—-4" 4’=11" 104" 9’-0” 8'-0" 7'—4" 6'-9"
160.0 6'-1" 4’-10” 4’—4" 7'=5" 6'-5" 5'-9” 5'-3" 4'-10" 10°-2" 8—10" 7'—11" 7'=2" 6-8"

1.D.I. — 2006

DRAWN BY:
WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL—-UP SHUTIER F.P.

PROFESSIONAL ENGINEER

ATLANTIC METAL EXTRUSIONS, LLC.| %/

6355 N.W. 36 STREET, STE. 305 1243 ETRUSCAN WAY

VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871—1531 PH: (859) 227-1320 FAX: (321) 777-6072 08_265
TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIFTION DATE DRAWING No

1 3
2 4

SHEET 18 OF 19




MULLION LOADING CHART MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f) AND CORRESPONDING
MAXIMUM SPAN "L”(Ft) FOR A GIVEN TYPE OF MULLION AND MULLION SPACING (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE & NEGATIVE LOADS)

1YPE @ MULLION (M) rvPE @ muLLIoN (N) rvee @ muLLion (0)
MAXIMUM 2" x 3" x 1747 47 x 47 x 1/4” 4" x 6" x 1/4”
DESIGN
,,W,,L%_Ds ) MULLION SPACING MULLION SPACING MULLION SPACING
< 3-0" |3 704 | 4705|5706 <4-0"4 705|570 6|6 708 | < 4-0"|4T05|5 7066 T0 8|8 10 10710 T0 12
450 OR LESS| 8'-3" | 7'-6" | 6'-11" 6-6" | 11°=4" | 10°=6" | 9'=11" |9'=0" | 158" | 147" |13'=8” | 12’=5" | 11'=7" |10'=11"
50.0 7=11" | 7=3" 6'-8" 6'—4 10°=11" 10°=2" | 9'-7" | 8"-8 15°=2" | 14=1" | 13’=3" | 12’=0" | 11’=2" | 10'-6"
55.0 7=-8" | 7-0" 6'-6" 6'—1 10°-7" | 9'-10" | 9'-3” | 8-5" 14'=8" | 13=7" | 12’=10"| 11’=-8" | 10'-10" | 10'=2"
60.0 7'=-6" | 6'-10 6'-4" 5—117 ) 10°=3" | 9'=9” | 9'-0" |8§-2 14°=3" | 13=3" | 12°-5” | 11'=4" | 10°-6" | 9'=11"
65.0 7'-3" | 6-7 6-2" 5—9" | 100" | 9~4" | 8-9” |7—11" | 13—11"| 12°=11"| 12=2” | 11°=0" | 10°=3" | 9'-8”"
70.0 7'—17 | 6'-6" 6'-0" 5-8" |9-9” | 9-1" | 8-6" |7-9 13°=7" | 12=7" | 11'=10"| 10'-9”" | 10'=0" | 9’=5"
75.0 611" | 6—=4" | 5'-10 5-6" | 9'=7" | 8=10" | 8~4" | 7-7 13°=3" | 12’=3" | 11’-7" | 10-6" | 9'-9” | 9’2"
80.0 610" | 6'-2” 5'-9” 55" | 9-4" | 8-8" |8-2" |7-5" |12—11"| 12=0" | 11’=4” | 10°=-3" | 9'=-7" |9'-0"
85.0 6'-8" 6'—1” 5'—7 5-3” | 9'-2" | 8-6" |8-0" |7-3 12°'=8" | 11°=9" | 11'=1” | 10’-1" | 9’4 8'-9”
90.0 66" | 5'—11 5'—6" 5'-2” | 9=0" | 84" | 7’=10" | 7’-2 12=5" | 11"=7" | 10'=11" 9'=11" | 9'=2" |8’-6"
95.0 6'-5" | 510 55 5'—1 g'-10"| 8=-2" | 7-9” | 70" | 12>-3" | 11-4" | 10'-8" | 9°-9” | 9'-0" |8&-3"
100.0 6-4" | 5-9” 5-4" 5-0”| 8-8"| &8=1" | 7=7" | 6=11"| 12’=0”" | 11"=2" | 10'=6" | 9-7" | 8'—10”" | 8'—1"
105.0 6-3" | 5-8" 5-3" 4-11") &-6" | 7=11"| 7-6" | 6'=9” | 11°=10"| 110" | 10'—=4" | 9'-5" - - NOTES :  REFER TO ELEVATIONS ON SHEET 2 OF 19
110.0 6'—1 5-7 5°-2 4—10| 8-5"| 7-10"| 7-4” | 6'=8" | 11°-8" | 10-10"| 10’-2" | 93" - - 1—. FOR MULLIONS INSTALLED W/O STORM BARS
115.0 6—0" | 5-6 51 s_o | 8-3| 7= | 7=3" | 6—7 | 11=6" | 10-8" | 10—0" | 91 _ _ A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
120.0 5=11" | 5-5 5—0’ q4—9” | &8-27 | 7=7" | 7=2" | 6-6" | 11’=4" | 10™-6" | 9'~11" | 9'-0" - _ 2—. FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS
125.0 5_10" | 5-4 s—11" | a—g | 81 7-6" | 7—0” | 65" | 11-2" | 10-4" | 9—9" | &—10 B B A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED
130.0 5'-9” 5'-3 4'—11 =77 7=117 7=5" | 6=117| 6'—4" | 11’=0" | 10°-3" | 9°=8” | 8&-8" - _ B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
135.0 5-9” 5'-2 4'-10 4-6" | 7-10"| 7=3" | 6'-10"| 6'=3" | 10’=11"| 10°=1" | 9’6" | 8'-6" - -
140.0 5'-8" 5-2 4'-9” 4-5" | 7-97 | 7=2" | 69" | 6=3" | 10™-9” | 10'-0" | 9°=5" | &—4" _ -
145.0 5-7" 5-1" 4'-8” 4=4> | 78" | 7=1" | 6-8" | 6'=1" | 10’=7" | 9°=10" | 9°-3" | 8&-3" - -
150.0 5'-6" 5-0’ 4'-8" =3 77" | 7-0 6-7" | 6=0" | 10-5" | 9'=9” | 9°=2” | 8&'—1 - -
155.0 55" | 4=11" | 4'=77 4=2" | 7-6" | 7=0" | 6=7" | 5=11"| 10°=5" | 9°-8" | 9'-1 7' =11 - -
160.0 5'-5" 4'—11" 4'-6" 4'—1 7'=5" | 6—-11"| 6'-6" | 5'=10"| 10-0" | 9'-7 9’-0 7'—10 - -

1.D.I. — 2006

DRAWN BY:
WALTER A. TILLIT Jr. P.E. 60mm & 40mm ROLL—-UP SHUTIER EP.

PROFESSIONAL ENGINEER

ATLANTIC METAL EXTRUSIONS, LLC.| %,/

6355 N.W. 36 STREET, STE. 305

1243 ETRUSCAN WAY

VIRGINIA GARDENS, FL 33166 INDIAN HARBOUR BEACH, FLORIDA 32937
PHONE (305) 871-1530 FAX (305) 871—1531 PH: (859) 227-1320 FAX: (321) 777-6072 08_265
TEXAS LIC. # 90691 REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No

1 3
2 4

SHEET 19 OF 19




